TH{EEI511/3/718&

(4A1~15B#E5)

EREAA . 2019/04/03 ~
7115
) w4 HEITA HEITB TEI7C HEIID
Ll % % w5
KR (PR =R B3 HR(PE) R L565 | 00, £:23,500, H:19.400 mm;:a.m,soo.ﬁ ‘mn;in‘m
567 00, 24,000, 19,900 :14,300, A B:14,000, $:14.800, :18.400
569 00, 23,700, B:24.600 119,000, :18,700, 520,
P 562 00, 23,700, B.28.400 17,000, :18,100, 19,300, B:23,700
564 00, 19,700, .26, 100, 15,300, 21,700
566 0% K.19,900, 19,500, -E:17.600, 626,400 _£:10,300, H:17.600
[CICEEDT WA CRE) 5 | _JLo5! 125 16,600, :19,500, H15.100 300 £:15,000, H:10,800
553 125 N N 00 15,000, £:16.900, H:14,600
555 125 23,500, 23,700, B:27.200 22,400 22,600, 526000
557 125 [$:25.500, 25,700, B:31.200 24.400, 24,600, B:30.000
s | _JLs52 125 24800, 21,300, §:21.200 23,800, 26,200, 26,000
[oLssa 125 9.900, +:18,600. H:19.000 14,700, FI:15.100
[CJLs56 125 00, 17,300, B:19.400 12,000, H:14,500
556 124 8,500 11,100, F1:13,600
[EEE ] [SEE] 541 00 16.100
543 800
545 800 00, 20,300, 526400
DiEs | Jodo | ,800 00, 23,200, B.21.600
542 800
["JLsa4 800 | $:20.700, F:20,400, H:22.300 00, F:14.000, H:16.400
WR(AE) S | ILSTS | 3,100 | 12% 313,200, £:13,400, +15.400, H:13,000
[CuLs75 3100|125 17.100, :17.700, B:17.600
[CuLs77 5100 |12 16,100, :18.700, H:20.600
579 00 [ 24 00 23,100, 20800, H:27.200
BR[| _J510 5100 |12 700, 23,500, H:18,600 00 100_F:22,200, 517,800
[Js72 3100|125 7:18.800, ®.£ :18,500 17,700, B:18.2
[Cuis7a 5100 |12 F:18.800, £ F H:18,500 17,700, B:18.200
576 3100|125 :17.900, %:18,600, £:16,300, H:19,600 N
TR ) B [uLs5 1100 [ 124 420300, 24,200, B-18.100 00, 22,600, H:15.300
[CuLse7 100 [ 2% :22.400, 21,300, 6:22.300 18400, 17,400, H:18.300
589 100 [ 125
EEE | Jsed 1100 [ 2% 321,400, 22,300, B:19.200 7 %5500 £:16200. H13400
[CJLs86 1100 [ 124 % 21,400, 20,300, 5:21.300 % 17,400, +:16.400. H:19.300
588 00 [ 2%
BN CGE ] KR (G5 | JL22dl 000
2243 ,000
2247 000
["JL2251 000
FaR 2240 000
2044 ,000
000
,000
KR (GF=ERE KR (FF 5 300
300
300
300
300
300
300
ERRR 7,300
7,300
7,300
7,300
7,300
7,300
7.300




THEEI511/3/7 5BER (4R 16~25A KRS

EREAA . 2019/04/03 ~
= &a Rz REI78 — HEII0
3 L b
. | BRA| SEiw w5 E SeAETTIE ™ =5 FET
R (AE)=K@Rl | K ()% | JIs6s | a0 | 0% BEAMR EIHES w mAum| ERE il
[JLs67 0% 00, #:23,900, £:23.500, H:19.400 | _3H#T [ 12,000 74% [ X:14500, 800, +:16.400. B 00 —
L [ises | 105 00, 00, F:24.000, H:19.900 | 3681 | 12500 | 73% |A:15,000, $:13.300, F:16900. B:14,000 —
ZigFE | JL562 10% | 388 [ 15500 [ 664 [A:18.700, 0. N E
[ JLs6d | 10% | 3HA | 16500 64% [ 7,100, 318,300, H:22.700 —
1 [ JL566 0% | SEAT | 14500 | 69% [:14600. %:15.100. £:14,300. H:20.700 =
B (RE) =R B (PE) R [ _JLS51 12% - 3EAT_| 11400 | 75% |K7:11500. 11,100, £:10.300, H:17.600 —
553 2% L =
555 E = { SHREI {1 68% 00, NEREX —
o :;: 4,300, #:23,500, +:23.700, H:27.200 3HHT | 18,500 58% |7 00, 1 Ziﬁg. g Zgggg -
FEIES _W T | :26.300, #:25,500, 125700, B:31,200 | 3E#1_[ 20500 54% | #:24,700, #:23.900, 1:24,100, H:29,500 —
554 T 24.800, +:27.300, H:27.200 | 3BAT | 21,700 51% 23,300, 1:25.700, H:25.500 =
555 ] o [£:19.900, :18.600, H:19.000 [ sEm | 14100 o8y |3 0. £:14.200, B:14 —
| 555 | T2 [ 17,100, +:17.300, B:19.400 [aEs [ 11300 7a% |2 =
TR BB | AR (REFE [l 00 10200, 1:16.400 H.15500 [sean [ o400 [ 774 |3 —
543 800 [ %:20.700, £:21.500, £:22.000 | 3HAT | 14200 67%_|7 -
L545 | 800 [ B | 27300 375 | —
P 540 500 7:20.500, #:21,500, +:20.300, H:26.400 | 3BAT | 17500 60% | A:17,600, %:16,600, £:16,900. 523,500 —
sz | . 20800, +:23,100. 821,700 [ 3EH | 17600 | 604 [#:17.400. £.10.700. H:18.300 —
[ [ Jsa 800 | 38 B
TR R | J57 3100|128 g.fug‘ifs«‘}g‘af;“m | sE 00, H:15.800 —
[CuLs75 5100|128 Sio0. 00, oo =] 13300, £:15,300_ H:12,000 =
[CuLs77 5,100 |12 N 7$~ E 17.600 +§ B:17,000, £:17.600 —
579 100 12% - 18,000, £:18.600, H:20,000 =
BLR [ 1570 | 100 T 2% gg Jﬂﬂéﬂi QQ‘BDD\ 15:28.300 | 387 23,000, +:21.200, H:27.000 —
o572 | 00 [ 12 e asﬁuﬂ 600 38 21,100, £:21,600, H:18,300 =
[CuLs74 8,100 | _12% ST H.18500 | 387 £ H:17.700 —
576 00 | 12% £ - | 3E81 | 17000 [££8:17,700 —
W (PE) =B 585 100 | _12% :g,x;saom H:19.500 | 387 13600 | 68% | 9:13,100, :14.700, £:12,500, H:15.700 —
[CaLser 100 2% ST o7 20300, 12400, B:15100 {3674 534 16,500, :13.400, 23,100, 15,800 =
- 589 100 [ 12% . $:22.400. £:21.300. B:22.300 +§ o A :19.900, %:18.400. E-17,400, FI-18.300 —
fEse | JLSed | 1100 | 12% | 383 4% -
586 100 124 i;g 2. g 21400 i“'“""* £:19.200 [IEET, 56% | 16,500, A:16,600. %:13,500. E:15.700. H:13.900 —
588 1100 | 125 . $:21.400. +:20.300. H:21.300 R 56% | F3:16,100, :18,900, 2:16,900, £:16.400, H:19,300 E
KR () =38 K (3 5¢ 2241 5,000 | 38 34% —
2043 000 38 21% =
[(JC2247 000 3H 21% —
2051 000 EEE] 21% =
RR 2240 000 38 30% —
2044 000 3H 26% —
o 38 21% —
000 38 21% =
KR (F-ERE KR () 5 300 38 21% —
300 37% =
300 374 —
300 37% -
300 4a% —
300 44% =
300 37% —
ERBE 7.300 37% =
7.300 374 —
7.300 37, E
7.300 374 —
7,300 4 -
7.300 374 —
7,300 37% =
37% —




=
THHEEI511/3/7 SEAR GAT~1THERS)
EREAA . 2019/04/03 ~
57717
) w4 HEITA FEHTE TEI7C HEHID
% % w5
B (RE) =R HRPE)R [ IS5 | 00, 27,600, H:20.900 [%:24.900_ 26,400, H:20.000
553 00, 28,800, B.23,500 [ 425,300, +:27,600, H:22.500
555 00, 22,500, B:28.300 [%:23.300, 21,500, §:27.100
557 00, 24,500, B1.32.300 [ 425,300, +:23,500, H:31.100
S L552 | 27,700, %:26,500, F29.100. H:25.200 [ :26.600. %:25.400. - 27,900, H24.100
554 X:23.200, £:20,300. F:19.500, H:27.500 [¢:20.800, 4:19,400, £:18.600, H:26.200
556 423,200, 21400, 5:28.100 [%:22.200. 20,400, 26,900
558 N 00 [ £:19.500. H:24.400
KR (7 % 2241
2243
MBS
KR (BFD=ERE KR (7 %
ERRR
ZHEBUMO=-ERE | 2ER MR | I £:16.800
£:17.300
#117.100
#H:16.300
£ 515800
HER £:15.300
16,300
B:17.300
$8.17.300

#H:16.800




TH$EEI511/3/7 5 BER(GA18~31 BRRS)

EFERE 2019/04/03 ~
AL
BEITA &8 FEs{7C FEID
M T
HEIE sl il #E wE
KR () =38 KER () 5
S
K () =ERE K (& [
ERBR
AHE (M) AHERUMOSE| J 32% £:16.800
32% £:17.300
32% £1:17.100
32% % H:16,300
32% £ H:15.800
EES 32% £:15,300
32% +:16.300
32% H:17.300
32% £H:17.300
32% £ H:16,800




THEZIE1/3/71EEXR (4A26~29BEFEN) JAL

EW#EMAA ;- 2019/04/03 ~

o o N o 4/26 4/27 4/28 4/29 |
ST AR T B 7 QBT = - o = o - - — o - - — - — - —
- g |7 AR AR QR O e A e 7 Ry (R0 AR ElEI7 (R At |7 ARy By (R ey AREI 7 SRy (REI7D
| 8k R | 5 | 1 | B | ERA | A | mEE | R | @Ee | SRE | SR | ERE | SRS | SRS | ORE | SR | SRS | 8FE | 2R
HR(PAE)=AR (B | BmCHE) % | _JLI0l [ & [ & 7.500 [_15.000 20.700 | 18500 | 17.000 20.700 3700 20.700 3500
[ _JL103 7.500 | 15,000 22,700 21,700 20,200 22,700 | 15,700 22,700 | _17.000
Li07 7.500 [_15.000 22.700 | 21.700 | 20200 20.500 7.200 20.500 7.000
7.500 | 15,000 22,800 22,200 20.700 20.500 1.500 20500 | 1 7.000
L 7.500 [_15.000 22.800 | 22200 | 20700 | -—— | 20.500 7.500 22.200 7.000
L 7.500 | 15,000 22,800 | 22.200 20.700 20.500 17.000 20,700 16.500
L 7.500 [_15.000 22.700 |_21.700 . 20,000 16.000 9.700 500
L119 9.300 | 16 22,700 20.000 ,000 1.500 13.500
1 9.300 [ 1. 22.00 | 2 9.500 500 | —— 7.500 500
5 20.300 22,200 9.500 ,200 1.500 13.500
Li27 20.300 22.200 7.000 14,500 7.500 000
L131 21,300 1.700 7.000 14.200 1.500 13.000
Li33 21,300 1.700 7.000 14.200 7.500 000
L137 21.300 1.700 7.000 14.200 1.500 13.000
9 22.700 1.700 7.000 14.200 7.500 500
KB (5 % 2 7.500 8.000 .000 | 14,000 7.500 13,000
04 7.500 8.000 000 000 7.500 000
[ JL106 7.500 20,000 500 500 7.500 13,000
JL 7.500 20,000 500 500 7.500 000
JL 7.500 20,000 | 1 ,500 ,500 7.500 13.000
JL 7.500 500 000 000 7.500 000
JL 7.500 ,500 500 ,000 7.500 13.000
J 7.500 500 7.500 500 7.500 000
[ JL 7.500 ,500 7.500 ,000 7.500 13.000
JL 9.300 500 7.500 000 7.500 000
20.300 ,500 7.500 ,000 7.500 13.000
20.800 500 7.500 000 7.500 000
21.300 ,500 ,000 7.500 13.000
22.100 500 000 7.500 000
22,100 ,500 ,000 7.500
HR(CRE)=KM (%) | KR(FR)F 7 17.500 22.800 .800
7 17.500 .800
7 22.800 .900
KB (BAEE) 7 17.500 3,500 |
7 17.500 000
7 22,600 | 13300 | 1
KR (53) =18/ KR (£751) % 22.200 800
22,200 ,800
22.200 . 000
22,200 200 | _17.000
EES 22.200 200 7.800
22,200 200 [ 16.100
22.200 200 100
] 200 200 [15.800
HECRE) =R RERPE) % .200 .200 29.000
] .200 .200 29.400
B .200 200 31.900
] .200 .200 35.900
JENIE = .200 200 29.800
] .200 .200 24,600
B .200 .200 23.700
] .200 .200 22.800
HECRB)=HIE RERPE) % B 100 100 28.300
] 100 100 29.200
B 100 100 32.200
] 100 100 33.900
BLE B 100 100 29.200
] 100 100 25.700
B 100 100 25.700
] 00 [ 2t 100 22.300
ERCRE)=F HERCRE) % 1.500 | 19, .000 29,800
1,500 [19.800 .000 29.800
500 [19.500 500 [21.500
500 [19.700 500 [ 18,500
700 20.700 1,500 [_18.000
.700 [ 21.700 1,500 [_18.000
ERR 1,500 [_18.000 26.400 [24.400
1,500 [_18.000 3,500 [ 21,500
500 [_18.000 1,500 [ 19.500
500 20,500 1,500 [_18.000
500 [21.200 1,500 [_18.000
500 1,500 18.000
HECAE)==R HRCAE) % 9,400 26,400 24,400
9.400 25.700 23.700
20,400 19,400 17,400
5 19.400 23.900 21,900
20,400 21,700 [19.700
20.400 19.400 5.000
R CHE)=HE R (FE) 5 20,500 24,500 [ 18.600
21,500 24,500 4300
20,500 24,000 1,500
20.500 20.500 7.500
PYES 20,500 22,700 [ 17.100
20,500 23.800 6.100
2,500 20,500 [_14.100
3.600 20.500 3100
HR CHE) =/ R (FE) 5 3 7,000 21,700 [ 16.400
38 7.000 22,000 7.400
3H 7,000 22,000 [16.400
38 7.000 18.700 6.700
3H 7,000 17,000 12,500
38 9.600 17.000 12.500
AT 3H 7,000 22,000 20,700
38 7.000 21.100 19.100
3H 7,000 19,700 14,900
38 7.000 17.000 14700
3H 7,000 17,000 12,500
38 7.000 17.000 12.500
KR (FFD =& 7 KR (B 56 3H 37,000 37,000 36,800
38 37.000 37.000 36.800
3 37.000 37,000 36,800
ERRE 3 37.000 37.000 36.800
3 37.000 37,000 36,800
3 37.000 37,000 36.100
KBR (753) =t E KB (5 % 3 33,400 33,400 32,500
3 33.400 33.400 33.200
3 33,400 33,400 33,200
PES 3 33.400 33.400 32,500
3 33,400 33,400 32,500
3 33.400 33.400 32,500
KBR (D =G KB (5 % 3 31,400 31.400 31,200
3 31.400 31.400 31.200
3 31,400 31,400 31,200
3 31.400 31.400 30.500
3 31,400 31,400 30,500 K | 3 )
3 31.400 31.400 30.500 31.400 30.500
3 31,400 31,400 30,500 31,400 | 3 30,500
3 31.400 31.400 30.500 31.400 30.500
e 3 31,400 31,400 31,200 31400 | 3 31,200
3 31.400 31.400 31.200 31.400 31.200
3 31,400 31,400 31,200 31,400 | 3 30,500
3 31.400 31.400 30.500 31.400 30.500
3 31,400 31,400 30,500 31,400 | 3 30,500
3 31.400 31.400 30.500 31.400 30.500
3 31,400 31,400 31,200 31400 | 3 30,500
3 31.400 31.400 30.500 31.400 31.200
PAC e ) PNAGC D 3 29,000 29,000 28,100 29000 | 2 28,100
3 29,000 29,000 28.100 29,000 | 28600 | 28.100
29,000 29,000 28,100 29,000 28,600 28,100
29,000 29,000 27.800 29,000 | 27.900 | 27.800
HBR 29.000 29,000 28.800 29,000 28,900 28,800
29,000 29,000 28.800 29,000 | 28900 | 28.800
29.000 29,000 28.800 29,000 28,600 27.800
29,000 X 28.800 29,000 28100 | —— | 20000 | 28.600 | 28.100




THEZIE1/3/71EEXR (4A26~29BEFEN) JAL

EW#EMAA ;- 2019/04/03 ~

o o N o 4/26 4/27 4/28 4/29 |
- g |7 AR AR QR O e A e 7 Ry (R0 AR ElEI7 (R At |7 ARy By (R ey AREI 7 SRy (REI7D
| R | R EEG | EEAE | B | A | ERE | BR | BRI | EWH | BT | B | ERE | BN | ERE | BN | ERHA | SR

KR (FFH=K% KR (B % 400 [_18.500 1400 | 19 200 400 300 200 400 300 200

400 | 18500 .400 .200 1400 | 19300 | 19.200 400 | 19,300 | 19.200

400 [_18.500 400 400 200 400 300 200
KnF 400 | 18,500 400 ,400 ,500 ,400
400 [_18.500 400 400 500 400
400 | 18,500 400 ,400 500 ,400
KW (R =R KR () % 26.200 25.300 26.200 26.200 000 26.200
26.200 25,300 26.200 26,200 26,000 26,200
26.200 25.300 26.200 26.200 26,000 26.200
26.200 25,300 26,200 26,200 26,000 26,200
E) 26.200 25.300 26.200 26.200 26,000 26.200
26,200 25,300 26.200 26,200 25,300 26,200
26.200 25.300 26.200 26.200 25.300 26.200
26,200 25,300 26,200 26,200 | 25,300 26,200
KR () =Bk RR(RFHE | J .300 23.400 .300 300 | 24.200 | 24.100 300
[ J ,300 23.400 ,300 ,300 24,100 300
J 300 [_23.400 300 300 24,100 300
[ J ,300 | _24.100 ,300 ,300 » 24,100 300
JL2441 300 [_23.400 300 300 . 24,100 300
JL2443 ,300 | 24,100 ,300 ,300 23.400 f— 1,300
B JL2430 300 [_23.400 300 300 23.400 300
[ JL2432 ,300 23.400 ,300 ,300 . 23.400 300
JL2434 300 23.400 300 300 i 23.400 300
[ JL2438 ,300 23.400 ,300 ,300 23.400 300
[JL3926 300 24,100 300 300 24100 300
JL2442 ,300 24,100 ,300 ,300 23.400 300
FIREH TR =-FHF FLIR (FF %) % [_JL2803 1.300 20.400 1.300 .300 21,100 .300
[ JL2805 1.300 20.400 1.300 .300 20.400 .300
JL2809 1.300 21.100 1.300 1300 21.100 1300
HHR [ JL2804 1.300 20.400 1.300 .300 20.400 .300
[ JL2806 1300 20.400 1300 1300 20.400 1300
JL2810 .300 21,100 .300 .300 21,100 .300
FLIR (BT F %) =RE FLIR (B FaR) % [_JL2821 .600 23700 .600 600 X 24,400 600
JL2827 ,600 23.700 ,600 ,600 » 23.700 1,600
EFE | JL2822 600 23.700 600 600 24,400 600

JL2828 ,600 24.400 ,600 ,600 23.700 600 | 2

FRE | JL287i 29,600 29.400 29,600 29.600 . 29.400 29.600
JL2877 29.600 29.400 29.600 29.600 X 29.400 29,600
FLIR (BT %) R [_JL2872 29.600 28.700 29.600 29,600 29.400 29,600
JL2876 29.600 28,700 29.600 29.600 29.400 29,600
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L107 7.500 7.500 | 1 000 7.500 000 7.500 .000 .500
7,500 7500 | 1 7,500 14,000 7,500 | 14,000 | 12,500
L 7.500 7.500 7.500 000 7.500 .500 .500
L 17.500 17.500 17.500 14.000 7.500 ,500
L 7.500 7.500 7.500 .500 7.500 .500
17.500 17.500 7.500 13.500 7.500 ,500
7.500 7.500 7.500 .500 7.500 .500
17.500 17.500 7.500 13.500 7.500 ,000
7.500 9.300 9.300 ,000 9.300 .500
7,500 20,300 20,300 13,000 20300 | 1 [ 16.000
7.500 22.100 22.100 ,000 f— 100 .600
7.500 22,100 2,100 13.500 ,100 | 16.000
7.500 22,100 | 1 2.100 .500 100 .000
PNACE] 7,500 7,500 7,500 13,000 500 [ 12500
7.500 7.500 7.500 ,000 7.500 ,000
7.500 7.500 | 1 7.500 13.000 7.500 ,000
7.500 | 1 7.500 | 14 7.500 ,000 7.500 .000
7.500 7.500 7.500 13.000 7.500 ,000
7.500 7.500 7.500 ,000 7.500 .000
7.500 7.500 | 1 7.500 13.000 7.500 ,000
7.500 9.300 | 1 .300 .500 .300 .500
7.500 9.500 | 1 ,500 14.900 e ,500 ,900
7.500 1.000 | 1 .000 100 .000 .100
7.500 1.000 .000 16.400 .000 ,400
7.500 1.000 .000 .400 .000 .400
7.500 2,800 ,800 ,800 ,400
7.500 22.000 ,000 ,000 .000
7.500 2,000 ,000 ,000 ,500
TR E) ARAE | R E 1.100 1100 100 100 000
1.100 1.100 .100 .100 ,000
1.100 1.100 .100 .100 .000 23.000
1.100 1.100 .100 .100 | 41,000 23.000
1.100 1.100 .100 .100 .000 23.000
1.100 1.100 .100 .100 | 41,000 24,000
1.100 1.100 .100 .100 .000 25.000
1.100 1.100 .100 .100 | 41,000 26,000
1.100 1.100 .100 .100 .000 26.000
1.100 1.100 .100 .100 | 41,000 27,900
1.100 1.100 .100 .100 .000 26.900
1.100 1.100 .100 .100 .000 29.900
1.100 1.100 00 .10( .00( 29.90(
R R =] 1.100 1.100 .100 10t .00( 10,70
=] 1.100 1.100 1.100 .10( .00( 10.70(
=] 1.100 1.100 1.100 10t .00( 10,70
=] 1.100 1.100 1.100 .10( .00( 10.70(
=] 1.100 1.100 1.100 10t .00( 10,70
=] 1.100 1.100 1.100 .10( .00( 10.70(
=] 1.100 1.100 1.100 10t .00( 10,70
=] 1.100 1.100 1.100 .10( .00( 10.70(
=] 1.100 1.100 1.100 10t .00( 10,70
=] 1.100 1.100 1.100 .10( .00( 10.70(
=] 1.100 1.100 1.100 10t .00( 10,70
=] 00 00 00 .10( .00( 10.70(
=] .100 .100 .100 10t .00( 10,70
TRG@TEN | RRGEE 0 200 200 200 200 | 31900 | 3180
=] ,200 ,200 ,200 20! 31.90 31.80
=] .200 .200 .200 20! 29.900 | 29.80(
=] ,200 ,200 ,200 20! 31.90 31.80
JEIE:S =] .200 .200 .200 20! 33.00 32.80(
=] ,200 ,200 ,200 20! 29.500 | 29.30
=] .200 .200 .200 20! 30.00( 29.80(
=] ,200 ,200 ,200 20! 29.100 | 28.90
R (HE) -8k ER(E) % ] 100 100 100 100 | 22,600 | 21,300
=] 100 100 100 10! 24,50 23.70
=] .100 .100 100 . 10! 2450 23.70
=] 100 100 100 10! 28.900 | 28.70
EIN 3 =] .100 .100 100 . 10! 31.10 30.500
=] 100 100 100 10! 29.400 | 29.20
=] .100 .100 100 . 10! 29.400 | 29.20(
=] 100 100 100 0 28.50( 28.30(
ER(PHE)==R G ES [ JLi 9,400 9,400 19,40 18,401 6,40
9.400 9.400 21.70 20.70( 9.70
9,400 9,400 26,400 | 25,400 2,400
] 9.400 9.400 19.40( 18.40( 7.40
9,400 20,400 24,00 23,00 22,00
9.400 20.400 24.00 23.00 22.00
R CRE)=#E G ES 20,500 20,500 X | 1 20,501 18,000 16,501
20.500 20.500 20.500 7.500 20.500 19.00( 17.50(
20,500 20,500 20,500 | 17,500 20,501 19,00 17,50
20.500 20.500 20.500 7.500 20.500 19.00( 17.50(
P 20,500 20,500 20,500 | 17.500 20,50 19,00( 17,50(
20.500 20.500 20.500 7.500 23.90 22.90( 21.40(
20,500 20,500 20,500 | 17,500 24,50 24,40 24,30
20.500 20.500 20.500 7.500 20.50( 19.00( 18.50!
xR -BH X OFA) 5 3 37.000 37.000 37,000 36,800 37,000 | 36,900 | 36.80
38 37.000 37.000 37.000 36.800 37.00 36.600 36.10
38 37,000 37,000 37,000 36,800 37,000 36,900 36,100
BHER 38 37.000 37.000 37.000 36.800 37.00 36.90( 36.80(
38 37,000 37,000 37,000 | 36.800 37,00 ,90! 80!
38 37.000 37.000 37.000 | 36.100 37.00 90! 80!
ENACER] ENACEES 38 33,400 33,400 33,400 [ 32500 33,40 ,000 | 32,500
38 33.400 33.400 33.400 200 33.40( .000 | 32.900
38 33,400 33,400 33,400 | 32,900 33,40 33,300 33,20
PR3 38 33.400 33.400 33.400 .200 33.40( 33.000 32.500
38 33,400 33,400 33,400 | 33200 33,40 ,300 32,501
38 33.400 33.400 33.400 33.200 33.40( .300 32.500
KR () -E X OFA) 5 38 31,400 31,400 31,400 [ 30500 31,401 1000 | 30,50
38 31.400 31.400 31.400 31.200 31.40 .000 30.500
3 31,400 31,400 31,400 30,500 31,400 | 31,000 30,500
3 31.400 31.400 31.400 30.500 31.400 .000 30.500
3 31,400 31,400 31,400 30,500 - 31,400 | 31,000 30,500
3 31.400 31.400 31.400 30.500
3 31,400 31,400 31,400 30,500
3 31.400 31.400 31.400 31.200
WAz 3 31,400 31,400 31,400 31,200
3 31.400 31.400 31.400 31.200
3 31,400 31,400 31,400 31,200
3 31.400 31.400 31.400 30.500
3 31,400 31,400 31,400 30,500
3 31.400 31.400 31.400 31.200
3 31,400 31,400 31,400 30,500
3 31.400 31.400 31.400 30.500
NGO E PN ACE ] 3 29.000 29,000 29,000 28100
3 29.000 29.000 29.000 28.800
3 29,000 29,000 29,000 28,800
3 29.000 29.000 29.000 27.800
HiRR 3 29,000 29,000 29,000 28,100
3 29.000 29.000 29.000 28.100
3 29,000 29,000 29,000 27,800
3 29.000 29.000 29.000 28.100
KR (T -K% TR OFA % 3 19,400 19,400 19,400 19.200
3 19.400 19.400 19.400 200
3 19,400 19,400 19,400 18,500
Kn 5 3 19.400 19.400 19.400 .200
3 19,400 19,400 19,400 19,200
3 19.400 19.400 19.400 19.200
xR (F-EB TR OFA) % 26.200 26,200 26,200 26,000
26.200 26.200 26.200 26.000
26.200 26.200 26.200 26.000
26.200 26.200 26.200 26.000
RI&H 26.200 26.200 26.200 26.000
26.200 26.200 26.200 26.000
26.200 26.200 26.200 26.000
26.200 26.200 26.200 26.000
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o o N o 5/1 5/2 5/3 5/4 |
- g |7 AR AR AR O e A1 e 7 By (R AR [T (R AL |7 AR A7 a7 (R e MBI CrEs7 (REI7D
| R | R ERE | ERE | ERE | ERE | ERE | ERE | ERE | ERE | SR | SR | SR | ERE | ERE | SR | ERE | ER

KR (7 =215 RiR(FF % | J .300 .300 23.900 23.400 .300 23.900 23.400 .300 23.900 .400
,300 ,300 23,900 23.400 ,300 23,900 23.400 ,300 23,900 | 23.400
.300 .300 | 24.200 .100 .300 24.200 23.400 .300 23.900 .400
300 1300 | 24,200 | 24100 300 | 24,200 | 24100 300 | 24200 | 24,100
J .300 .300 | 24.200 .400 .300 23.900 23.400 — .300 23.900 .400
300 300 | 24,200 | 24100 300 | 23,900 | 23400 300 | 23900 | 23400
=5 J .300 .300 | 23.900 .400 .300 .400 .300 23.900 .400
,300 ,300 23.900 23.400 ,300 300 24,200 | 24.100
J .300 .300 | 24.200 23.400 .300 .300 24.200 .100
[ J ,300 300 | 24.200 24,100 ,300 ,300 23,900 23.400
.300 .300 | 24.200 24.100 .300 .300 24.200 24,100
300 | 24 300 | 24.200 23.400 ,300 300 24,200 23,400
IR FHTFR)=-F IR (FHTm) % 1.300 1.300 | 21.200 21.100 .300 .300 20.900 20.400
[ J 1.300 1.300 20.400 .300 .300 20.900 20.400
J 1.300 X 1.300 20.400 .300 .300 21.200 21.100
BHER [ J 1.300 21.100 1.300 21,100 .300 .300 21,200 20.400
[ J .300 21.100 .300 21.100 .300 .300 20.900 20.400
J .300 21.100 .300 20.400 .300 .300 20.900 20.400
IR (FTF ) =FE IR (FHTFm) %[ J .600 | 23.700 .600 | 23.700 .600 600 .500 400
J 600 [ 24.400 600 [ 24.400 600 600 [ 24400
PLES [ J .600 | 24.400 .600 | 24.400 .600 600 .400
J 600 | 24 [ 24.400 600 [ 24400 600 600 | 24 [ 23700
IR EF TR =E [T -3 [ J 28.600 | _27.700 28.600 | _27.700 28.600 28.600 700
[ J 28,600 28.400 28,600 28.400 28,600 28,600 | 27.700
[ J 28.600 28.400 28.600 28.400 28.600 28.600 7.700
[ J 28,600 28.400 28,600 24,900 28,600 28.600 | 24,900
[ J 28.600 24.900 28.600 24.900 28.600 28.600 .900
J 28,600 23.400 28,600 23.400 28,600 28,600 | 23.400
FIR(FHTFm) | J 28.600 25.300 28.600 25.300 28.600 28.600 | 27.700
[ J 28,600 27.700 28,600 24,900 28,600 28.600 | 24,900
[ J 28.600 24.900 28.600 24.900 28.600 28.600 4,900
[ J 28,600 27.700 28,600 27.700 28,600 28.600 | 24,900
[ J 28.600 28.400 28.600 28.400 28.600 28.600 28.400
J 28,600 | 27.000 28,600 28.400 28,600 28,600 | 27.400
BE-E wEE | J 900 [—43.000 900 [—43.000 900 900 700
J 900 [ 43.000 000 [ 43700 900 900 [ 43700
Wax J 1900 [ 23.700 1900 [ 23.700 900 900 000
J 900 [43.000 900 [43000 | — 900 .00 | 43 [ 43000
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BEEME . 2019/04/03 ~
. N . N 5/5 5/6 |
- g |7 AR AR R QR N e 7 e R (RS B eI (@70
| R | R EREA | ERE | ERE | ERE | ERE | BN | SRS | ERE
RG-S | XEFME 1400 T400 75200
1.400 1.400 25,200
1.400 1.400 25.200
1.400 1.400 25,800
1.400 1.400 25.800
1.400 1.400 25,500
1.400 1.400 26.200
1.400 1.400 31,200
=3 1.400 1.400 25.200
1.400 1.400 25,200
1.400 1.400 25.800
1.400 1.400 25,200
1.400 1.400 25.200
1.400 1.400 26.200
1.400 1.400 25.200
1.400 1.400 25,200
AR FH | KEGME 25,000 25,000 25,600
29,000 29,000 25,600
29.000 29.000 25.600
29,000 29,000 28.800
ETEE 29,000 29,000 25,600
29,000 29,000 25,600
29.000 29.000 25.600
,000 ,000 25,600
AR | KEFME 400 400 100
,400 ,400 16.800
.400 .400 .800
K% 400 400 [ _17.600 —
.400 .400 .200
,400 ,400 ,200
ARG -RE | XEFME 26.200 26.200
26.200 26.200
26.200 26.200
26.200 26.200
BB 26,200 26,200
26.200 26.200
26.200 26.200
26.200 26.200
KB () =RER KR (£751) % 23.800 23.800
23.800 23.800
23.800 23.800
23.800 23.800
AR 800 | 1 800
=] =] =] ,800 ,800
.800 .800
.800 ,800
ARG R | XEFME 300 300
=] 300 300
=] .300 .300
=] 300 300
=] .300 .300
=] 300 300
RS B 300 1300 | 2
=] 300 300
=] .300 .300
=] 300 300
=] .300 .300
H 300 300
FREM-ERE | AEEMR 7.300 7.300
=] 7.300 7.300
7.300 7.300
7.300 7.300
7.300 7.300
7.300 7.300
7.300 7.300
ERSR 7.300 7.300
7.300 7.300
7.300 7.300
7.300 7.300
7.300 7.300
7.300 7.300 | 2
7.300 | 2 7.300
ARG TE -Zas | ARG TR % | L2113 21.300 21.300
JL2715 21.300 21.300
JL2719 21,300 21,300
iR JL2712 21.300 21.300
JL2714 21,300 21,300
JL2718 21.300 21.300
AEGTR-BR | LR TR % | JL2603 3 21.300 21.300
JL2805 38 21.300 21.300
JL2809 38 21,300 21,300
BHR JL2804 38 21.300 21.300
JL2806 38 21,300 21,300
JL2810 38 21.300 21.300
ARG TE HE | LR G % | 282l 38 24,600 24,600
JL2827 38 24.600 24.600
PES L2822 36 24,600 24,600
JL2828 38 24.600 24.600
ARG TR 58 e JL2871 38 29,600 29,600
JL2877 38 29.600 29.600
FLUR (BT i%) % |_JL2872 36 29,600 29,600
JL2876 38 29.600 29.600
ARG TR -2 Wa% JL2901 38 28,600 28,600
JL2903 38 28.600 28.600
JL2905 38 28,600 28,600
JL3981 38 28.600 28.600
JL2907 38 28,600 28,600
JL2909 38 28.600 28.600
FLOR (5 T 2%) % |_JL2900 3H 28,600 28,600
JL2902 38 28.600 28.600
JL3980 3 28,600 28,600
JL2904 3 28.600 28.600
JL2906 3 28,600 28,600
JL2910 3 28.600 28.600
BE-LE B JL3531 3 43,900 43,900
JL3537 3 43.900 43.900 | 43
WAz L3530 3 43,900 43,900
JL3538 3 — 43.900 43900 | 43

JAL
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4/16-25
L] 73 _ @I E
FH EELE EEH [
AR il CIE .
R CHE) =% 5] R CAE) % |_JL565 900 | 74% |:14.400. £:12.700. £:16.300. H:13.400
JL567 400 73% 5 00, H:13,900
JL569 400 | 67% 00. H:19.300
ESTES JL562 400 | 64% 8200, H:22.600
JL564 400 | 69% 00. H:20.600
JL566 300 | 75% 10,200, H:17.500
RRCRE) =R HRERCRE)F |_JL551 .700 76% 00
JL553 ,100 70% 5,000, H:12,900
JL555 800 | 60% 0,200, H:23.500
JL557 9.800 55% t:22.200, H:27,500
JENIES JL552 20900 | 53% |4 :23.000
JL554 ,400 70% | £:14,200, £:13,000
JL556 200 | 75% 1.700. £:11.500, H:13.900
JL558 .300 77% |£:10,800, £:10,600, H:13.000
KR () =318 RIR (5 | JL2241 .600 67% [+ H:11.700
JL2243 .600 67% tH:11.700
JL2247 700 | _49% 8.300, £:17.800. H:17.000
JL2251 8.600 74% 28,800, 1:9.700
HBRR JL2240 9,600 70% :10.700
JL2244 7.400 46% t:16.400. H:18.300
JL2246 6400 | 50%
JL2250 6.400 50% |4 .500, H:18..
KR (R -ERS KR (5D % |_JL2401 7.300 42% £:17.600.
JL2403 7.600 1%
JL2407 7.600 1
JL2409 6.700 4
JL2411 6.700 4
JL2415 7.200 43% 8,000, +:17.300, H:17.600
JL2419 .000 | 40% 3:17.600, £:17.500
ERSR JL2400 .700 ) 7.600, H:16.800
JL2402 .700 £:17.600, B:17.100
JL2404 700 % +H:17.600
JL2406 .700
JL2410 700 % +H:17.600
JL2412 600 1% | £:18.000
JL2414 7.600 1% +:18,000
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5/7-17
L] 73 _ HEITE
F EELE EEH [
AR il CIE .
R CHE) =% 5] R CAE) % |_JL565 18200 | 61% |AH:19.200 %:22.200, E:21.200
JL567 19700 | 57% |#:20,700, £:23,700, £:22,700, H:20.200
JL569 19500 | 58% |A:20.500. %:22.300, £:21.300. H:23.900
i Bl 5 JL562 20.500 56% 21,500, A £:23500. H:21.300
JL564 20500 | 56% :19.500. +:18.500, H:20.300
JL566 16.600 64% |<:17.600, H:20.200
RECRE) =R HRECRE)# |_JL551 20,000 55% 3,400, +:24,800, H:18.800
JL553 21,100 52% |£:23700, £:26.000, H:21.200
JL555 20800 | 53% 21,800, £:20.200, H:25.500
JL557 22,800 49% 23,800, £:22,200., H:29.500
JENIES JL552 22.700 | 49% | %:25.200, /KA:23.200. %:23.900. £:26.400
JL554 7.100 61% 18,600, £:18,200, £:17.400, H:23.500
JL556 8.000 | 50% 20,900, £:17.900, H:25.400
JL558 7.100 61% |5:18.400, £:17,000. H:22.900
EEEEDE T FR(HE) F | JL541 5.100 65% +17.200, +:18.700. H:14.600
JL543 7200 | 38%
JL545 6700 | 62% |£:17.600. H:23.100
EEE3 JL540 6400 [ 62% [7k:18.400, #:17.400, +:18.100, H:16.800
JL542 7200 | 38%
JL544 4800 | 66% |£:15700. H:17.200
R (FE)=HK RECAE) F |_JL573 6600 | 6% [&:
JL575 7.800 | 59% |£:19.200. +:18,200, H:17.500
JL577 7.800 | 59% |%:19.200, £:18.200. H:20.500
JL579 9500 | 55% 2
HILSE JL570 9.900 54% 18.900
JL572 7.900 | 58% 18,900
JL574 7900 | 58% 18.900
JL576 000 | 63% . H:19.300
R CRIE) =EE FR(FE) F [_JL585 .700 53% 21,700, H:14.900
JL587 100 | 54%
JL589 000 | 35%
B JL584 700 | 55% |7K:20.200, £:17.200. + H:15.300
JL586 000 | 52% |%:18.000. £:15.400. H:24.500
JL588 23000 | 35%
HR (FE) =W R CAE)$ |_JL231 .700 | 59% |%:13.900. £ H:12.800
JL233 .000 53% t H:14.200
JL237 .200 3.800, £ H:14.200
JL239 000 :12.900
JL241 .000 £ H:12.800
FELLSE JL232 200 % [£:13.500, £ H:11.500
JL234 .000 £ H:12.800
JL236 200 w | £:14.600. + H:12.800
JL240 .000 3% |+ H:12.800
JL242 B 000 | 53% |+ H:12.800
RECABR)=HE HERRE)F [ 277 B 20,000 38% 20,100, +:20.900. H:19.400
JL279 B 22.400 | 31% 22,600, £:23.600, H:20.600
J1283 B 22.400 :22.600. £:23.600, H:20.600
JL285 B 19.000 +H:19.600
J1287 B 18.500 % £ H:20.400
HER JL276 B 18.300 t:20.200. H:18.800
JL278 B 22000 | 3 +£:24.700 300
JL280 B 16700 | 48% 20,000 200
JL284 B 22900 | 29% .900
JL286 B 21,700 | 33% 200
HECRE) =& HRCAE) & |_JL475 B 18.000 46% .600
JL477 B 21,800 | 34% 100
JL479 B 20600 | 38% 800
JL481 B 000 | 46% .700
JL483 B 000 | 46% 700
JL485 B 100 | 30% 900
JL487 B 100 | 30% 900
I3 JL474 B 700 | _44%
JL476 B 20200 | 39% +18.40
JL478 B 17700 | 47% :19.800, H:20.700
JL480 B 17.700 | 47" :19.800, H:20.700
JL482 B 19.100 | 42% :19.500, H:22.900
JL484 B 22900 | 31 19.500
JL486 B 200 | 30% £:19.100
KR (D =318 KB (D % [ JL2241 B .600 67%
JL2243 B 600 | 67%
JL2247 B 700 | 49% 18.300, £:17.800. H:17.000
JL2251 B 8.600 74% | H:9.700. £:9.700
iR JL2240 | 218 9,600 70% | H:10,700, £:10,700
JL2244 | 21H 7400 | 46% 19500, +:16.400. H:18.300
JL2246 21H 6,400 50% 19,500, H:18.300
JL2250 | 21H 6400 | 50% 19500, H:18.300
AR (BFF-ERE KR (51 % | JL2d01 [ 218 7.300 42 +:17,600, B:16,800
JL2403 | 21H 7.600 | _41%
JL2407 21H 7,600 1
JL2409 | 21H 700 4
JL2411 21H 700 4
JL2415 | 21H 200 3% 218,000, £:17.300, H:17.600
JL2419 | 21H 8000 | 40% [ M:17,600, £:17.500
ERER JL2400 | 218 6700 | 4% |+:17.600. H:16.800
JL2402 21H 6,700 44 +:17.600, H:17.100
JL2404 | 21H 6700 | 44% |+ H:17.600
JL2406 21H 6,700 44
JL2410 | 218 6700 | 44% |+ H:17.600
JL2412 218 7,600 41 +:18,000
JL2ata | 218 7600 | 1% |+:18.000

JAL



MEEEIS121 EER(5A18~31BERED)

EREAE 2019/04/03 ~
5/18-31
=R B4 - HEMIE
o | R s
BRCRE)=k&5 HRCRE)F |_JL565 19.200 :20.200
JL567 20.700 21,200
JL569 20.500 4.900
i Bl 5 JL562 21,500 2,500, H:22,800
JL564 20.500 500, 800
JL566 16.600 +17.600, H:20,200
RECRE) =R HRECRE)# |_JL551 20,000 3,400, +:23.800, H:18.800
JL553 21,100 £:22,700, £:24.000, H:21.200
JL555 20.800 1.800. £:20.200, H:24.500
JL557 22,800 | $:23.800, :28.500
JENIES JL552 22.200 24,700, :21.700
JL554 7.100 £:18,200, +:17, :22.500
JL556 8.000 124,500, £:17 :25.400
JL558 7.100 £:22,000, £:17. :22.900
EEEEDE T FR(HE) F | JL541 5.100 +17.200, £:19. :14.600
JL543 7200 | 38%
JL545 6700 | 62% |2:17.600. H:23.100
EEE3 JL540 6400 | 62% |£:17.400. F:18,100, H:16.800
JL542 7200 | 38%
JL544 4800 | 66% |2:16.200. H:17.200
RECRB)=HIA FR(FE)F [ _JL573 6.600 61% +18.200, +:18.800. H:16.400
JL575 7.800 59% 19,200, 18.500
JL577 7.800 | 59% 19.200, H:21.500
JL579 9.500 55% | 120,700, £:18.700, H:27.000
HILSE JL570 9.900 54% +£:24.700. H:20.400
JL572 7.900 58% |4 :19.900. +:18.800
JL574 7900 | 58% :19.900, +:18.800
JL576 .000 | 63% |%:18500, H:20.800
HR (FE)-EHE HRCHE) % | _JL585 700 | 53% |A:17.700. %:19.900, £:21.700. H:14.900
JL587 100 | 54% |:18.100, £ +:20.00. H:17.700
JL589 000 | 35%
B JL584 700 | 55% [ %:17.200. £ H:15.300
JL586 000 | 52% |%:18.000. £:15.400. H:24.500
JL588 23000 | 35%
HR (FE) =W HRCHE) % [ JL231 700 | 59% 3.900, £ H:12.900
JL233 .000 53% 1:14.200
JL237 200 | 61% 3.800, £ H:14.200
JL239 .000 | 53% 3:12.900
JL241 .900 +16.000. £ H:12.800
FELLSE JL232 .200 #:13500, 1 H:11.500
JL234 .900 £ H:12.800
JL236 200 £:14,600, £ H:12.800
JL240 .000 3 :12.800
JL242 B 000 | 53% H:12.800
RECABR)=HE HERRE)F [ 277 B 20,000 38% 20,100, +:20.900. H:19.400
JL279 B 22.400 | 31% 22,600, £:23.600, H:20.600
J1283 B 22.400 :22.600. £:23.600, H:20.600
JL285 B 19.000 +H:19.600
J1287 B 18.500 £ H:20.300. £:15.700
HER JL276 B 18.300 t:20.200. H:18.800
JL278 B 22000 | 3 +£:24.700 300
JL280 B 16700 | 48% 20,000 200
JL284 B 22900 | 29% .900
JL286 B 21,700 | 33% 200
HECRE) =& HRCAE) & |_JL475 B 18.000 46% .600
JL477 B 21,800 | 34% 100
JL479 B 20600 | 38% 800
JL481 B 000 | 46% .700
JL483 B 000 | 46% 700
JL485 B 100 | 30% 900
JL487 B 100 | 30% 900
I3 JL474 B 700 | 4a%
JL476 B 20200 | 39% +18.40
JL478 B 17700 | 47% :19.800, H:20.700
JL480 B 17.700 | 47" :19.800, H:20.700
JL482 B 19.100 | 42% :19.500, H:22.900
JL484 B 22900 | 31 19.500
JL486 B 200 | 30% £:19.100
KR (=578 KB (D % [ JL2241 B .600 67%
JL2243 B 600 | 67% |4
JL2247 B 700 | 49% |A:17.100. £:18.700. £:17.800. H:17.000
JL2251 B 8.600 74% 9700, £:9.700
HRKE JL2240 | 218 9,600 70% 10,700
JL2244 | 21H 7400 | 6% |4 19.900, +:16.400. H:18.300
JL2246 21H 6,400 50% |4 #:19,900, H:18,300
JL2250 | 218 6400 | 50% |A:16.800, £:19.900. H:18.300
AR (BFF-ERE KR (51 % | JL2d01 [ 218 7.300 42% [£1:17,600, B:16,800
JL2403 | 21H 7600 | 41%
JL2407 21H 7,600 1
JL2409 | 21H 700 7
JL2411 21H 700 4
JL2415 | 21H 200 3% 218,000, £:17.300, H:17.600
JL2419 | 21H 8000 | 40% [ M:17,600, £:17.500
ERER JL2400 | 218 6700 | 4% |+:17.600. H:16.800
JL2402 218 6,700 44 +:17.600, H:17.100
JL2404 | 21H 6700 | 44% |+ H:17.600
JL2406 21H 6,700 44
JL2410 | 218 6700 | 44% |+ H:17.600
JL2412 218 7,600 41 +:18,000
JL2ata | 218 7600 | 1% |+:18.000

JAL



MEEEI5121 EE R (4H26~30BEED) JAL

EW#EMAE ;. 2019/04/03 ~

ELTE 4/26 _ 4/21 _ 4/28 _ 4/29 _ 4/30 _
4] B2 HEMIE| BEIMTE| BEIMIE] BEMIE| HEITE
EAERETOOE I E T T
BRCRE)=k&5 ERCRE)E | J 20.000
20,500
4,000
i Bl 5 7.000
5.000
5300
RRCRE) =R ERCRE)E | J 22.700
26.500
26.000
28.000
TR 23.300
18,200
22.200
21,300
EACE: R N ERCRE) % 18.600
19.900
20.900
33.000
HILR .700
.300
1300
400
HR(CRE)=HE BERCRE) % .000
,000
BHER
ER(CAR)=-FH ERCRE) % .500
800
500
,700
700
20.700
HHR 400
400
400
,500
20.200
20.200
ER(CRE) BERCRE) % 6.300
.300
7.300
ZiR% B 6.300
6 7.300
[ 300
R CRE)=E HRCAE)# | _JL161 18 .800
JL163 18 500
[ JLi65 6 500
JL167 18 200
WEFE | _JLi62 6 800
JL164 18 500
[ JLi66 6 500
JL168 18 600
ERCRE) =/ HRCPE)$ | _JL183 18 .900
[JLi8s 18 000
JL187 18 .500
[JLi8Y 18 500
JL191 6 500
JL193 18 4,600
AEE | _JLis2 6 000
JL184 18 000
[ JLi8e 6 500
[ JLiss 18 000
JL190 6 500
JL192 18 600
KR (D =H&F RIR (5 % | JL2151 18 1.200
JL2153 | 21H 2.200
JL2157 18 1.500
EHE [ JL2152 | 218 9.500
[UL2i54 | 218 20.700
JL2158 | 21H 17.000
KR (5 =FE RER(RFH % | JL2171 | 21H 20,100
JL2173 | 21H 21,700 .
JL2179 218 20,100 . 27,700
HER JL2172 | 21H 18.600 . . 100 | 19.600
JL2174 218 2,400
JL2176 | 21H 9.900
KR (D =ML& KRB (fRFH % | JL2201 | 21H 9,500
JL2203 | 21H 9.500
JL2205 218 9,500
JL2207 | 21H 9.500
JL2209 218 20,300
JL2211 | 21H 20.300
JL2213 218 20,800
JL2215 | 21H 2.600
X3 JL2200 | 21H 8,100
JL2202 | 21H 8.100
JL2204 218 8,100
JL2206 | 21H 8100
JL2208 218 9,200
JL2210 | 21H 9.200
JL2212 218 20,200
JL2214 | 21H 8.300
KR (D =318 RBR(RFH % | JL2241 | 21H 0,600
JL2243 | 21H 0.600
JL2247 218 7.400
JL2251 | 21H 8.000
Fa=E JL2240 | 218 7,300
JL2244 | 21H 7.300
JL2246 21 17,300
JL2250 | 21 20.600
K (FFH) =Ri& KB (FFH % | JL237t | 21 15,000
JL2373 | 21 15.000
JL2375 21 16,500
JL2377 | 21 17.600
FIAR JL2372 21 17,300
JL2374 | 21 17.300
JL2376 21 17,800
JL2378 | 21 17.300
KR (5 =RER KB (5 % | JL2383 | 21 13.300
JL2385 | 21 14.600
JL2389 21 14,000
AR JL2382 | 21 12.200
JL2386 21 14,600
JL2392 | 21 14.600
KIR(RFH =R KB (FFH % | JL2401 | 21 16,000
JL2403 | 21 16.000
JL2407 21 6,000
JL2409 | 21 7.000
JL2411 21 5,600
JL2415 | 21 5.600
JL2419 21 17,600
ERE% | JL2400 | 21 15.800
JL2402 21 15,800
JL2404 | 21 15.800
JL2406 21 15,800
JL2410 | 21 17.300
2412 7.600
JL2414 7.600
IR FR)=FH | IR FFR) %[ L2803 7.100
JL2805 7.100
L2809 7.100
BEHE [ L2804 7.100
[ JL2806 7.100
JL2810 7.100




MEEEI5121 EE R (4H26~30BEED)

EREAR : 2019/04/03 ~
BEMTE 4/26 4/27 4/28 4/29 4/30
=R B4 HEIM7E | BEIMIE | BEIMTE | BEMIE| BEMIE
EAERETOOE I E T T
AR F TR A | FLIE BT m) 3¢ | _JL2821 900 | 16400 | 17.300 [ 14500 |
L2827 ,100 11.000 0
TERE | J2822 900 20.300
L2828 ,900 14.800
AR TR =B ME% [ JL2001 800 28.300
[ L2903 ,300
[ JL2905 .900
,900
25.700
L2909 23,700
TR (37 T %) % |_JL2900 7100
[ JL2902 6.900
L3980 3.700
[ JL2904 7.100
[_JL2906 6.300
JL2910 9.800

JAL



TEEZISI21 1 EERGA1I~6BEED)

EREAE 2019/04/03 ~
ELTE 5/1 5/2 5/3 5/4 5/5 5/6
=40} 4 HEI7E | BEIMIE | BEIMTE | BEMIE| BEMIE| BEIIE
waom | SR | ERE | mws | sAs | sms | eEe
RRCRE) =44 (B8 | RRCAE)F |_JLI93 | 14.800 |
L901 0
[JLo03 1
[ JL905 1
[JLo07 1
[ JL909 1
L913 1
L915 [ 1
L917 1
L919
L921
[ JLe23
L925
TP GRER) R |_JLI00
[JLo02
[ JL994
[ JLo04
[JL906
[JLo0s
JL
JL
JL
JL
JL
L920
1922
KIR () =R G FiR)| KIR (R F | JL2001
[ JL2005
["JL2009
JL2019
ALAR (37 F i) $|_JL2000
[ JL2006
[JL2010
JL2016
KB (BATE) =#LIR (37 Fik)| KB (BIFE) & | JL2501
[ JL2503
JL2505
FLUR B F i) % |_JL2502
[JL2504
JL2506
BRCRE)=k&5 R (CRE)$ |_JL565
[ JL567
JL569
ESCFIES JL562 =]
JL564 18
JL566 [
HECRE) =R RECPE)H | _JL5S! 18
JL553 [
JL555 18
JL557 [
JENIES JL562 1H
JL554 [
JL556 18
JL558 [
AT HERCRE) % | _JLs41 18
JL543 [
JLS. 18
IS JLS 18
JLS. 18
JL5 [
ERCRR) =%k HERCRE)$ |_JLST. 18
JL57 [
JL577 18
JL579 [
WILFE JL57 18
JL57. [
JL57. 18
JL57 [
R CRE) =EiE FHRCHE)H [ JL585 18
JL587 [
JL589 18
WER JL584 fI=
JL586 218
JL588 | 21H
RRCAB) =% HERCAE)H [ Juidr | 218
JLi43 | 21H
JL145 218
JLi47 | 21H
JL149 218
JLi51 | 21H
HHER JL140 [ 218
JLi42 | 21H
JL144 218
JLid6 | 21H
[ JLi4g | 218
JLI50 | 21H
HR (FE)= R (CPHE) % |_JL155 21H 16,000 |
JLi57 | 21H 22,400
JL159 [ 21H 23,400
ZiR% JLi54 | 21H 21.300
[JLise | 21H 3,400
JLi58 | 21H
R CRE)=ME HRCAE)H [ _Jui6r | 218
JL163 | 21H
[ JLi6s | 218
JLi67 | 21H
BER JLi62 [ 218
JLi64 | 21H
[ JLiee | 218
JL168 | 21H
R CRE) =/ HRCRE)E | JLie3 | 21
JLi8s | 21
JL187 21
JL189 | 21
JL191 21
JL193 | 21
MRS JL182 21
JLi84 | 21
JL186 21
JLi8s | 21
JL190 21
JL192 | 21
K (B =H& KB (FFH % | JL2ist | 21
JL2153 | 21
JL2157 21
BHER JL2152 | 21
JL2154 21
JL2158 | 21
KR (75 =Rk KBR(RFD$ | JL2171 | 21
JL2173 | 21
JL2179 21
HER JL2172 [ 21
JL2174 21
JL2176 | 21

JAL



TEEZISI21 1 EERGA1I~6BEED)

EREAE 2019/04/03 ~
Py I i 5/2 5/3 5/4 5/5 5/6
=R B4 HEI7E | BEIMIE | BEIMTE | BEMIE| BEMIE| BEIIE
o $@I5E B B e e e e
KR (FFD=IIE KR (B % [ JL2201 300 | 16900 | 26600 | 16.600 |
[ L2203 300 | 20200 | 26600 | 26.600
[ JL2205 700 18.700 | 26.600 100
[ L2207 500 18.700 | 21.600
[ JL2209 700 17.700_| 20600
2211 6.700
JL2213 6.700
L2215 26,300
s [JL2200 .700
[ L2202 .700
[ JL2204 .700
[ JL2206 .700
JL2208 .700
L221 .700
JL221 .700
JL221 .700
KR () =318 KB (R % [ JL224 .800
[ JL224: 800
[ JL224 700
JL225 20,300
FRE | JL224 7.700
[ JL224: 800
[ JL224i 100
JL2250 800
KRR (5 =#1l RIR (5 % | JL2301 .000
[ L2305 .000
JL2309 .000
¥allgE | JL2302 .000
| JL2306 200
JL2310 500
RIR (FFH) =K% RIR (5 % | JL2361 .200
[ JL2365 .800
JL2367 .000
KH% | JL2362 ,900
JL2364 .700
JL2366 .700
KR () =R KIR (5 | JL237 .200
[ JL237: 300
JL237 .300
JL237 100
W% JL237 800
[ JL237: 800
JL237 .000
JL237 B .000
KR (5 =RER RIR (5 % | JL238 18 .500
[Jr2385 | 218 500
JL2389 | 218 500
BEAR | J2382 | 21H 4.600
[ JL2386 | 218 5700
JL2392 | 218 5.700
KR (D =28 RIR (5 % | JL2431 18 2.500
JL2433 | 218 4.900
JL2437 | 218 9.900
JL: 1H 20.300
JL: 18 20.300
B3 JL: 1H 2,500
JL: 18 2,500
JL: 1H 7.500
JL: 18 4,000
JL244 1H 6.500
AR (R =-ERS RIR (5 | JL240 18 5.500
JL240 1H 5,600
JL2407 | 218 5.600
[Jr2400 | 218 5,600
JL2411 18 7.300
JL2415 | 218 7.300
JL2419 | 218 7.300
ERB% | JL2200] 218 3,500 | 1
[ L2402 | 218 5.400
JL2404 | 218 5,400
[ JL2406 | 218 1,000
JL2410 | 218 1.000
JL2a12 | 218 1,000
JL2a1a | 218 1.000
HWREFFR)=-FF |AMEFFR [ 2803 | 218 6.200
JL2805 | 218 1.600
JL2809 | 218 3,000
BHE JL2804 | 218 7.100
JL2806 | 218 7,700
JL2810 | 218 5.200
ARG TR 58 [ JL2871 | 218 21,400
JL2877 | 218 21.700
AL (F T %) %[ JL2872 | 218 20,700
JL2876 | 218 21.800
HIRFFR)=ILE e JL2901 | 21H 21,100
JL2903 | 218 21.300
JL2905 | 218 21,300
JL3981 | 218 21.300
JL2007 | 218 3,100
JL2909 | 218 8.600
AL (F T 2%) 5% [ JL2900 | 218 4,800
JL2002 | 218 6.400
JL3980 | 218 9,000
JL2004 | 218 20.800
JL2906 | 218 18,700
JL2910 | 218 14.800
EE-Eh B JL3621 | 218 8400
JL3625 | 218 8500
JL3629 | 218 8,500
JL3631 | 218 8500
JL3633 | 21 8,500
JL3639 | 21 8500
JL3641 | 21 8,500
EEES JL3620 | 21 8.200
JL3622 | 21 8,200
JL3626 | 21 8.200
JL3630 | 21 8,200
JL3632 | 21 8.400
JL3634 | 21 8400
JL3642 | 21 8.400

JAL



MEEZIS21 1 EERGA1~14AEBED) JAL

EW#EMAE ;. 2019/04/03 ~

6/1-14
[=475] B% HBEMIE
FH EELE EEH [
AR il CIE "
R CRE) =W HR(EE)F | JL231 .700 59% [£:13.900. F:11.500, H:12.800
JL233 .800 53% |+ H:12.800
JL237 .200 %:13.800, £ H:12.800
JL239 .300 1) £:16.500, 1 H:12.800
JL241 .900 ES
[T JL232 ,200 1) g 800
JL234 100 | 52 800
JL236 ,200 61% |4 800
JL240 300 | 52% 800
JL242 ,000 53%
R (FE)-LS R CAE) % |_JL253 000 | 60%
JL255 ,200 45%
JL257 200 | 45% :
JL259 ,700 46% 13,
JL261 000 | 54% 6.100, £ H:13.100
JL263 .000 54% 6.100. £+ H:13.100
JL265 100 100
JL267 ,700 .800
&% JL252 .000 .800
JL254 ,700 :13.100
JL256 .000 .100. £ H:13.100
JL258 ,000 100, £ H:13.100
JL260 100 100
JL262 100 ,100
JL264 .700 800
JL266 700 100
R (FE)=HE RRCAE)F |_JL277 20000 | 38% [%:20.100, £:20.900. H:19.400
JL279 400 % £:22,600, £:23,600. H:20.600
JL283 .000 £ 5:19.600
JL285 000 % |+ H:19.600
J1287 500 £ H:20.300. £:15.700
HESR JL276 .300 43% | +:20.200. H:18.800
JL278 22000 | 32% |%:22.500, £:24.700. H:20.300
JL280 19.000 41% |£:19.400, £:23.100, H:20.900
JL284 22900 | 29% 23100, £:21.400, H:23.900
JL286 1,700 33% |4 22,200
KR () =318 KR (5D % | JL2241 0.600 67% |4
JL2243 0.600 67% i
JL2247 7100 | 47% 700, £:18.200
JL2251 9,600 70% .700
HBRR JL2240 0.100 69% .200
JL2244 7.800 45% 900, 1:16.800
JL2246 6.800 | 48% .900
JL2250 B 6400 | 50% .900. H:18.300
AR (R =-ERS KR (51 % | _JL2401 B 7.300 2 +16.800
JL2403 B 7.600 1%
JL2407 B 7.600 1
JL2409 B 700 4
JL2411 B .700 4
JL2415 B 200 3% 218,000, £:17.300, H:17.600
JL2419 B 000 | 40% | H:17.600. £:17.500
ERER JL2400 B 700 3 7.600, H:16.800
JL2402 B .700 £:17.600. B:17.100
JL2404 B 700 %[+ H:17.600
JL2406 B .700
JL2410 B 700 w | H:17.600
JL2412 B 7.600 1% | £:18.000
JL2414 B 7.600 1% [ +:18.000




MEEEIS|21 EEXR(6A15~21BERED) JAL

EW#EMAE ;. 2019/04/03 ~

6/15-21
[=475] B% HBEMIE
FH EELE EEH [
AR il CIE "
R CRE) =W HR(EE)F | JL231 .700 59% [£:13.900. F:11.500, H:12.800
JL233 .800 53% |+ H:12.800
JL237 .200 %:13.800, £ H:12.800
JL239 .300 1) £:16.500, 1 H:12.800
JL241 .900 ES
[T JL232 ,200 1) g 800
JL234 100 | 52 800
JL236 ,200 61% |4 800
JL240 300 | 52% 800
JL242 ,000 53%
R (FE)-LS R CAE) % |_JL253 000 | 60%
JL255 ,200 45%
JL257 200 | 45% :
JL259 ,700 46% 13,
JL261 000 | 54% 6.100, £ H:13.100
JL263 .000 54% 6.100. £+ H:13.100
JL265 100 100
JL267 ,700 .800
&% JL252 .000 .800
JL254 ,700 :13.100
JL256 .000 .100. £ H:13.100
JL258 ,000 100, £ H:13.100
JL260 100 100
JL262 100 ,100
JL264 .700 800
JL266 700 100
R (FE)=HE RRCAE)F |_JL277 20000 | 38% [%:20.100, £:20.900. H:19.400
JL279 400 % £:22,600, £:23,600. H:20.600
JL283 .000 £ 5:19.600
JL285 000 % |+ H:19.600
J1287 500 £ H:20.300. £:15.700
HESR JL276 .300 43% | +:20.200. H:18.800
JL278 22000 | 32% |%:22.500, £:24.700. H:20.300
JL280 19.000 41% |£:19.400, £:23.100, H:20.900
JL284 22900 | 29% 23100, £:21.400, H:23.900
JL286 1,700 33% |4 22,200
KR () =318 KR (5D % | JL2241 0.600 67% |4
JL2243 0.600 67% i
JL2247 7100 | 47% 700, £:18.200
JL2251 9,600 70% .700
HBRR JL2240 0.100 69% .200
JL2244 7.800 45% 900, 1:16.800
JL2246 6.800 | 48% .900
JL2250 B 6400 | 50% .900. H:18.300
AR (R =-ERS KR (51 % | _JL2401 B 7.300 2 +16.800
JL2403 B 7.600 1%
JL2407 B 7.600 1
JL2409 B 700 4
JL2411 B .700 4
JL2415 B 200 3% 218,000, £:17.300, H:17.600
JL2419 B 000 | 40% | H:17.600. £:17.500
ERER JL2400 B 700 3 7.600, H:16.800
JL2402 B .700 £:17.600. B:17.100
JL2404 B 700 %[+ H:17.600
JL2406 B .700
JL2410 B 700 w | H:17.600
JL2412 B 7.600 1% | £:18.000
JL2414 B 7.600 1% [ +:18.000




MEEEI5|21 EEXR(6H22~30BEED)

EREAE 2019/04/03 ~
6/22-30
[=475] B% _ HBEMIE
F EELE EEH [
AR il CIE "
R (@)= (BB | FERCAE) % [_JLoo1 27800 | 39% |4 26.900
JL903 30.100 34% |4 .100
JL905 30100 | 34% 100
JL907 30.100 34% |4 .100
JL909 29.300 500
JL913 28.600 4 ,100, H:29,500
JL915 500 E
JLO17 ,000 4
JL919 500 E 100 £:19.100
JL921 ,500 E 1:17.400, £:17.400
JL923 600 t 8.500
JL925 ,000 |3 7,900, H:18.900
AR % [_JLo00 600
JL902 500
JL904 .000
JL906 4,500
JL908 7.300
JL910 28100 | 28,600, H:33.100
JL912 28,100 | 28,600, H:33.100
JL914 28100 | 28,600, H:33.100
JL916 30.100 :33.100
JL918 30.100 :33.100
JL920 7.800 X
JL922 000 #:27.200
KB (5 =08 () | KIR (R H | JL2081 800 £:33.900, +:34.600. H:33.000
JL2087 ,100
PRI 5 | JL2084 100 +:14.200, H:15.000
JL2088 900 %:32,600, +:31,800. H:34.000
R CRE)=FEW FR(HE) F | _JL231 .700 £:13.900, +:11.600. H:12.800
JL233 800 3:12.800
JL237 .200 3.800, £ H:12.800
JL239 300 500, F H:12.800
JL241 .900
[GITES JL232 ,200 80
JL234 100 | 52 80
JL236 200 | 61% 80
JL240 300 | 52% 80
JL242 ,000 53%
R (FE)-LES R CAE) $ |_JL253 000 | 60% |+H:13.100
JL255 200 | 45% 1,800, H:13.100
JL257 200 | 45% :13.100
JL259 ,700 46% :13.100
JL261 000 | 54% 6.100. £ H:13.100
JL263 B 000 | 5% 6.100, £ H:13.100
JL265 B 100 | 48% :13.100
JL267 B 700 | 46% 1,800 H:13.100
&% JL252 B .000 57% |+ H:13.100
JL254 B 700 | _46%
JL256 B 000 | 54%
JL258 B 000 | 5%
JL260 B 100 | 53%
JL262 B 100 | 53%
JL264 B 700 | 46%
JL266 B 700 | 46%
RECABR)=HE HERRE)F [ 277 B 20,000 38%
JL279 B 400 1% |%:22.600, 1:23.400, H:20.600
J1283 B .000 £ H:19.600
JL285 B 000 +:19.700. H:21.900
JL287 B 500 £:20.300. £:16.700. H:23.900
HEs JL276 B 300 t:20,200
JL278 B 22000 | 3 22,500, 0.300
JL280 B 19.000 | 4i% 19,400, 23,000, H:20.900
JL284 B 22.900 | 29 23,100, %:21.400. H:23.900
JL286 B 1700 | 33% 2.200
KR (=578 RIR (5 R | JL2241 B 0.600 67"
JL2243 B 0600 | 67%
JL2247 B 7100 | 47 700 £:18.200
JL2251 B 9.600 70% 700
HBRR JL2240 B 100 69% .200
JL2244 B 800 | 45% 900, £:16.800
JL2246 B 800 | 48% X
JL2250 B 400 | 50% : £:19.900. H:18.300
AR (BFF-ERE KB (B [ JL2d01 | 218 7.300 42% [£1:17,600, B:16,800
JL2403 | 21H 7.600 | _41%
JL2407 21H 7,600 1
JL2409 | 21H 700 4
JL2411 21H 700 4
JL2415 | 21H 200 3% 218,000, £:17.300, H:17.600
JL2419 218 8,000 40¢ £ H:17.600, £:17.500
ERER JL2400 | 218 6.700 | 4% 7.600, H:16.800
JL2402 21H 6,700 44 +:17.600, H:17.100
JL2404 | 218 6700 | 44% |+ H:17.600
JL2406 21H 6,700 44
JL2410 | 218 6700 | 44% |+ H:17.600
JL2412 218 7,600 41 1:18,000
JL2ata | 21H 7.600 | 41% [+:18.000
BEE (PED)=HLIE (TR 2 HE (PaD) R UL3103 | 218 28,800 31 32,200, +:32,500, H:27.100
JL3105 | 21H 9200 | 30% | H:27.500, £:30.500. +:30.000
JL3107 21H 8,700 55%
JL3115 | 21H 7.700 | 58% |3
JL3117 21H 6,700 60%
ALOR (FrF ) S| _JL3100 | 21H 7.200 59%
JL3106 21H 8,200 57
JL3110 | 218 28800 | 31% |:29.500, %:28.500. +:26.900. H:31.000
JL3114 | 218 28800 | 31% |A:29,500, £:28,500, £:27.900. H:32,700
JL3i18 | 21H 15.100 | 64% |+:16.500. H:32.300

JAL



225 EERGAT~1THEES)

EEHEAR 2019/04/03 ~

5/7-17
=] (23— _ FRILTA
| lmusm| PR
R () =R F &) RR(RE) [ _J 28 BRI 8,400
[ J 288 9,300
[ J 288 300
[ J 288 000
[ J 288 000
[ J 288 500
JL 288 500
JL 288 200
JL 288 400
JL 288 000
JL 288 000
[ J 288 200
[ J 288 200
[ J 288 100
[ J 288 300
[ J 288 300
[ J 288 100
288 800
FLIR G37 F ) R 288 100
288 200
288 200
288 100
288 900
[ J 288 400
L 288 400
L 288 900
L 288 500
L 288 800
N 288 100
[ JL520 | 28H 100
[ Ji522 | 28 100
[ Ji524 | 28 100
[ JL526 | 28H 900
[ JL528 | 28H 400
[ JL530 | 28 400
[ JL598 | 28 100
RECRE)=Z @5 R CRIE) 5| _JL565 288 600
288 100
288 500
ES TS 288 500
288 500
| J 288 200
B CRE) =) RERCAE) | _J 288 500
288 500
288 600
288 000
FEHIES 288 500
288 500
288 800
| J 288 9,900
FR (FE) =9I HECRE) | _JL 288 .300
L 288 400
L 288 400
I3 L 288 300
L 288 800
L 288 700
R (HE) =%k HRECRE) & L 288 .000 74% :11,300
L57 288 700 | 71% :13,900
L57 288 700 | 71% 16,900
L57 288 200 | 62% 600, H:20,000
ETR 3 L57. 288 200 | 62%
L57; 288 700 | 68% :13,100, H:14,200
L57: 288 700 | 68% 113,100, H:14.200
| JL57 288 800 | 73% 100, H:11,400
FR (FH) =58 RERCAE) | _J 288 700 64% 1,600
288 800 | 64% 14,100
288 800 | 55%
EES 288 500 | 70%
288 500 | 64%
| J 288 1900 | 49% X
HE CHE) =W R (AE) F[_J 288 000 | 64% 800, £ H:12,600
288 000 | 64% H:12.800
288 000 | 64% 2,700, £ H:12,800
288 300 B
288 700
[T 288 000 | 64% |
288 000 | 55% 3200, £12.700__H12600
286 000 | 64% |4:12,800, & B:12,700
288 800 5,300, + H:12.500
288 700 00
R (HE)=8% RER(PAE) R 288 ,200 63%
288 200 | 60%
288 500 | 64%
288 000 | 57%
288 100 | 51%
TS 288 000 | 55% |
288 200 | 60%
288 500 | 64%
288 500 | 56%
| J 288 100 | 51%
HR(HEHE)=K5 RER(PAE) R 288 100 65%
288 000 | 62%
288 000 | 65%
288 400 | 66%
288 400 | 66%
286 400 | 64%
K% 288 400 | 64%
286 400 | 66%
288 300 | 67%
288 300 | 67%
286 000 | 62%
| J 288 100 7
HR(CHE)=RS EREBE | J 288 ,200 7
288 900 1
288 500 7
288 500 7
288 600 | 69%
288 600 | 67%
RI&% 288 600 | 67%
280 600 | 69%
288 200 | 70%
288 700 | 66%
288 500 | 62% 00,
L 288 ,000 | 70% 116,300, H:17.500
R (FH)=AE EREE) R J 28H 100 T1%
288 000 | 66%
288 000 | 64% 200, 7K:14,900, K:14,300, %:17.300, £:17,000. H:14,600
288 .000 | 64% | 2K:15,200, 7K:14,900, 14,300, %:16,300, £:16.800, H:14.600
288 000 | 66% 900, A:13.300, %:15,800, %:16.000, H:13,600
288 300 | 68%
288 800 | 62%
288 000 | 61%
(233 288 900 | 66%
288 700 | 64%
288 700 | 67%
288 000 | 68%
288 900 | 64%
288 300 | 68%
288 300 | 65%
| J 288 000 | 64%
HR(HE) =55 EREE) R J 288 ,200 68%
288 300 | 68%
288 800 | 66% 400, % 13,700, £:13,600, 14,200
288 700 | 67% )1 13,400, £:14.400, H:15.500
288 600 67% . AR:13,700, £:15,200, H:16.800
288 600 | 67% 115,100, H:17,300
B S 288 500 | 65% 4,000, £:17.300, H:13.200
288 300 | 68%
280 300 | 68%
288 ,300 | 68% X
288 300 | 68% | K16, 3200, H:16.000
280 800 | 69% |#H:13.200




T%BE5 BERGAT~1TEHERS)

EFEAA 2019/04/03 ~
5/1-11
FEHTA
K -2 T e
AR | ™ EEES
R (HH)-ERS RR(HH) % L¢ 28E 100 75% | X:11,500, £:12,100
L 28H 600 71% | 13,000, A#:13,600, +:14.600
L 28H 600 69% | 415,300, A#:14,600, £:15.600
L 28H 000
L 28H 100
[ J 288 600
[ J 288 100
28H 100
ERER L¢ 288 600
L 28H 100
L 28H 100
28H 600
| JL 288 100
[ J 288 100
28H 000
28H 600
AR PR F® | KR (G %[ J ] 200 .
[ J 28H 200 :11,300
[ J 28H 300 14,900, £:14,100, B:12.500
28H 200 .
iR 28H 200
[ J 288 000
28H 000
28H 000
KR (FFD-RRE | KR (G 5| J ] 000
[ J 288 700
[ J 288 700
[ J 288 500
28H 500
28H 400
28H 700
BERER [ J 28H 400
| J 28H 400
| J 28H 400
| J 28H 400
28H 700
28H 700 00, £:13.700, B:15.600
28H 400 00

JAL



%5515 EER (GA18~31 BEES)

EFEAE . 2019/04/03 ~
5/18-31
- s FRITA FATB
%
R () =R F &) RR(RE) [ _J 10,300, £:12,000
[J 11,200, F:13,600
[J 13,200, F:13,600
[ J 14,300, £:18,800, £:19.100, H:11,000 |
[J 15,000, 7:17,300, %:19.200. 17,000, B:11,000 |
[J 14,500, 7:17,300, %:19.200, 16,500, B:11,500 |
JL 500, 7:17.300, £:19,200, +:16,500, B:11,500 |
JL 800, %:14,800, +:14,900, B:13,000
JL 513,000, %:14,700, +:14,300, B:14,200
JL 512,900, %:14,400, +:13,700, B:14,200
JL 512,900, %:14,400, +:12,100, B:14,200
[ J <:13,400, £:14,900, 111,900, H:14,200
[ J 8 <:13,400, £:14,900, 11,900, H:14,200
[ J 400, £:17,800, £:12,000, H:14.300 513,900, %:17.000, +:11,500, B:14,200
[ J ,300, £:19.900, £:11,700, H:15.100 14,500, %:19,800, +:11,00, H:15,000
[ J ,300, £:19.900, £:11,700, H:15.100 14,500, %:19,800, +:11,00, B:15,000
[J ‘aoo £:10400, B:14.400 18,700, +:10,000. H:14,300
700
WLIE (T i) 5_J 14,600, 2:15,100, +:15400, H:12,500
500, £:16,000, :16,200, H:13,000
500, £:16,000, £:16,200, H:13,000
600, 15,100, H:13,000
£:13,500, :14,000, H:13.900
[ J £:11,900, £:12,500, H:14,400
L . %:14,100, F:13,700.
L X 15100 £:13.800, B:17.100 ooo %15000 £:13,700,
L 40 £:13.800, H:20.200
L 200
[ L 800, H:21,200 00,
[ JL520 : 000, %:17.400, +:11,500.
[ JL522 400, %:11,500, B:21,100
[ JL524 400, %:11,500, B:20,100
[ JL526 i 400, +:11,300, B:19.400
[ JL528 100, £:10,600, B:16,000 600, F:10,200, H:15,900 |
[ JL530 7 ,100, +:9,600, B:14,800 12,600, F:9.200, H:13,500 |
| JL508 | 28H 100 | 68% 800
W CAE)=%@5 | R CAE)F[_JLse5 | 288 100 | 67% 15,800, H:16.100 600, 13,600, H:13,000
288 500 | 64% 16,800, +:17.300, H:17,000 000, %:14.100, +:15.100, H:14,000
X 500, £:15.000, H:17.200
ES TS 50
501
[J 500, N
RRCAB) BN | RRCAE) | _J F 15500, 611900 |
1:13.400, 714,900, :17.000, £:16,000, H:13,500 |
4,900, +:13,000, H:16.200
K:14.900, %:16,600, +:15.000. H:16,200
FEHIES 116,100, H1:15.600
FR (FE) =9I HECRE) | _JL
FIEES L
R (HE) =%k HECRE) $|_JL
L57
L57
L57
HILF L57
L57
L57
[ JL57
FR (FH) =58 HECHE) | _JLS
EER
[ J 900 | 49% £:13.400, H:19500
FR (GFIE)=fE W RERCABE) | _J 000 64%
000 | 64%
000 | 64%
300 | 58% 12
700 | 53%
[T 000 | 64%
.000 | 55%
000 | 64%
800 | 56%
700 | 53%
R (HE)=8% RER(PAE) R ,200 63%
200 | 60%
500 | 64%
000 | 57%
100 | 51%
B ,000 55%
200 | 60%
500 | 64%
500 | 56%
[ J 100 51% ,000, 1:11,600, H:15,700
RR(AH-A» | AR PER 100 | 65% £:14.500, H:12,600
000 | 62% 5100, 15200, B:13,700
000 | 65%
400 | 66%
400 | 66%
400 | 64%
E 400 64%
,400 | 66% 4200 H:12.900
300 | 67%
300 | 67%
000 | 62%
[ J 100 | 67%
HR(CHE)=RS EREBE | J .600 69%
600 | 62% 6,100, H:13,500
500 67% 3,500, &
500 67% 3,600, &+
600 | 69%
600 67% 4200 7K:14,000, -
RI&5E 600 | 67% 4,800, +:15,100, H:13.700
600 | 69%
200 | 70% 600
000 63% 500, £:16.100, B:17.800 N
000 61% 17.800 K:15,500, 16,800, +:14,600, H:16,200
L 800 | 71% 114,300, H:13,400
HR (AH)= RRCAE)F | J 900 | 71% 2,000, +:13,100
800 | 66%
300 | 65%
300 | 65%
,300 | 68%
,300 | 68%
800 | 62%
000 | 61%
33 900 | 66%
700 | 64% I
700 | 67% 15,600, +:15.200
400 67% ,800, 7k £:13,000, £:14.300, H:16.000
400 | 65% 5000, H:16,800
,300 | 68%
300 | 65%
[ J 000 | 64%
R (PH) =28 RRERCRE)F| J 200 68%
,300 | 68%
,000 | 68% N 13300, &+ 13500
400 | 67% 500 14,300, 13,700, H.15,500 514400, % 14200, +:13.500, B:14.900
400 | 67% 500, k:13,700, %:14.900, 113300 H:16,800 500, k13200, & 4800 E:14,900
,300 68% #:
RS ,800 66% 1 300‘ 1:17,300, H:13.200 500, £:13,900, + 15,400~ EI 12,900
,300 | 68% 14,000, H:13.200 4 £:13,000, H:12,800
200 | 68% 700, B:13,600 2,400, H:12.600
,300 | 68% B
300 | 68% 500, £:12.800, H:14,900
600 | 69% £[:12.900




WREAE

2019/04/03 ~

[%BE5 EEXR(5A18~31 BIERS)

=]

5/18-31

£/ITA

#185178

L

RRCAB)-ERE

RRCAE R

1,100

:12,600, 1:13,600

600, 1:13,600

ERER

(el ||
id
=
S|
'
N
S|
S|

KR () =378

KB (FFH %

EES

KR (FFH-ERE

KB (FFH %

300

300,

34560 £:15,700, +:14,100, H:12,500

0,300, £:10,300

:

3,300, & H:13,700

2,300, & H:12,700

13,300, £ 813,700

& 1:13,200, H:12,500

k:13,500, £:15,000

3500, 1:14,700

3,000, F:14.500, H:12.800
k:13,000, £:13,700, H:12,800

ERER

200, +:13,700

00, #:15,700, +:13,700, H:15.600

13.200, £:12,500

|

800, H:11,900

|

1,800, £:12,300, H:12,100
1,800,  H:12,300

11,800, 1 H:12.300
3,700

k:13.400. % H:14,700. +:12,900

kK 7K:13.400, 1:12.900

JAL
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PPN i 5/2_ 5/3 5/4
4] F4 K1BI7A| £BITA| £BIMTA| R1EITA
Wi | BEE® | EEE@ | EAEW | EEE
R CRE)=XKIR () | R CAE) $|_JL101 288 .300 | _9.800
JL103 | 28 1300 10.200
L107 28 .300 00
JL 28 1300 [_10.200
L 28 .300 | 10.200
JL 28 1300 00
L 28 .300 00
28 1300 00
28 .300 00
28 1300 00
28 .300 00
28 1300 00
28 .300
28 1300
28 .300
ECICESE N 28 .300
28 .300
28 300
28 300
28 300
28 300
28 1300
28 .300
28 1300
28 .300
28 1300
28 .300
28 1300
28 .300
28 1300
FR CRE)=ALIR i Fi)| RR CRE) #|_J 28 .900
28 .900
28 ,900
28 .900
28 ,900
28 .900
28 ,900
28 .900
28 ,900
28 .900
28 ,900
28 .900
28 ,900
28 .900
286 900
286 .900
286 —
FLIR (37 F2%) 5|_JL500 | 28H .900
JL502 | 28H 900
JL504 | 28H .900
JL506 | 28H 900
JL508 | 28H .900
JL510 | 28H 900
JL512 | 28H .900
JL514 | 28H 900
JL516 | _28H .900
JL518 | 28H 900
JL520 | 28H .900
JL522 | 28H 900
JL524 | 28H .900
JL526 | 28H 900
JL528 | 28H .900
JL530 | 28H 900
JL598 | 28H —
RA CHE) =94 (FH) | #om (AE) F|_JLoo3 | 288 28.700
JLo01 |_28H 28.700
JL903 | 28H 29.700
JL905 | _28H 30.700
JL907 | 28H 30.700
JL909 | 28H 29.700
JL913 | 28H 29.700
JLo15 | 28H 27.700
JL917 | 28H 27.700
JL919 28H 25,500
JL921 | 28H 25,500
JL923 28H 25,500
JL925 | 28H 25,500
A (RER) 3 |_JL900 | 28H 27,700
JL902 | 28H 27.700
JL994 28H 27,700
JL904 | 28H 27.700
JLI06 28H 27,700
JL908 | 28H 28.700
JLI10 28H 28,700
JL912 | 28H 28.700
JL914 28H 29,400
JL916 | 28H 29.400
JL918 28H 29,400
JL920 | 28H 28.400
JL922 28H 27,900
AR (BSEE) =ALI% (3 F #%)| ABR (B8 5 |_JL2501 | 288 30,000
JL2503 28H 24,400
JL2505 | 28H 24.400
LR (37 F#%) H|_JL2502 | 28H 24,400
286 27.600
286 0,000
RRCRE)=k@&5] RERCPE) % 28H 8.200
28H 8,200
286 8.200
ESCRTES 280 8,200
286 8200
28 18,200
RRCRE) =R RERCRE) % 28 17.400
28 17,400
28 17.400
28 17,400
B 28 17.400
28 17,400
28 17.400
28 17,400
HRCRE) =8I RRECRE)# 28 16.900
28 16,900
28 16.900
ElEES 28 16.100
28 16.900
28 16,900
RR(CRB)=Hk RERCRE) % 28 16.100
28 17,000
28 17.000
28 17,000
HILFE 28 17.000
28 17,000
28 17.000
28 17,000
RER(CRE)=HE RERCRE) % 28 28.700
28 16,600
28 16.600
AR 28 14,400
28 16.600
28 ,600
RR(RE)= ERCRE) [ J 28 .700
28 ,700
28 700
ZIR% 28 700
28 700
28 ,700




rEJEE EERGA1I~4BERESD)

EEEAE 2019/04/03 ~
P 5/1 5/2 5/3 5/4
- as | A R aTA BBTA| ERMTA] EBETA
Wi | BEE | EEE@ | EAW | EEE

FR(CRE)=X5 HR(PE) R 288 5.800 [ 1

28 7.300 [

28 800 [ 1

28 .000 [ 1
28 ,000
28 800
EY 28 .800
28 .000
28 500
28 500
28 .300
28 300
K (B =H& KR (75 % 28 .800
28 22.300
28 24,800
HHR 28 21.900
28 29.900
28 29.900
KR () =LE KR (75 % 28 .800
28 800
28 800
28 .900
28 600
28 300
28 .300
28 300
e s 28 .800
28 800
28 ,800
28 800
28 .300
28 300
28 .300
28 300
KR () =318 KR (75 % 28 400
28 400
28 400
28 800
HRR 28 400
28 400
28 400
28 400
KR () == KR (5 % 28 .200
28 800
286 200
286 800
286 800
ELES 28H 200
286 200
286 200
286 200
JL2442 | 28H 4.800
IR EFR) =% AR GRFR) A _JL2713 | 288 8.900
JL2715 | 28H 11.300
JL2719 | 28R 900
ZEmI% | JL2712 | 288 900
JL2714 | 28R 900
JL2718 | 28H .900
HIRETFR)=HH FLIR(FTFR)H _JL2803 | 28H 1.300
JL2805 | 28H 1.300
JL2809 | 28H 1.300
EHHE | JL2804 | 28H 800
JL2806 | 28H 000
JL2810 | 28H 100
IR EFFR)=LE =3 JL2901 | 28H .700
JL2903 | 28H 20.900
JL2905 | 28H 20,900
JL3981 | 28H 20.900
JL2907 | 28R 20.900
JL2909 | 28H 200
LB (377 ) 5{_JL2900 | 28H 000
JL2902 | 28H 400
JL3980 | 28H 000
JL2904 28H 20,700
JL2906 | 28H 17.600
JL2910 28H 14,400

JAL



SEEEA R 2019/04/03 ~
P 5/5 5/6
&R &% i::: A B sTA| ZBITA
magam | B | ERER
R CRE)=XKIR () | R CAE) $|_JL101 288 9.800
JL103 | 28 1000
L107 | 28 .000
JL 28 .000
L 28 .000
JL 28 500
L 28 500
28 500
28 500
28 500
28 000
28 .000
28 000
28 .000
28 .700
KR (R %[ J 28 .300
28 800
28 700
28 000
28 500
28 900
28 .900
28 .900
28 .900
28 400
28 .700
28 .700
28 .700
28 .700
28 .400
FR CRE)=ALIR i Fi)| RR CRE) #|_J 28 .100
28 100
28 300
28 300
28 400
28 .400
28 800
28 700
28 700
28 700
28 700
28 700
28 20,200
28 20.200
28H 20.200
28H 12.100
28H 11.400
LI (3 T &) #_JL500 | 28H 19.400
JL502 | 28R 20,000
JL504 | 28H 20.200
JL506 | 28R 20.200
JL508 | 28H 20.200
JL510 | 28R 20.200
JL512 | 28R 29.700
JL514 | 28R 29.700
JL516 | 28H 29.700
JL518 | 28H 29.700
JL520 | 28H 29.700
JL522 | 28R 29.700
JL524 | 28R 29.700
JL526 | 28R 20.200
JL528 | 28H 20.200
JL530 | 28R
JL598 | 28R
FRCRE) =44 (B8 | Bx CRE) F|_JL993 288
JL901 | 28R
JL903 | 28R
JL905 | 28H
JL907 | 28R
JL909 | 28R
JL913 | 28R
JL915 | 28R
JL917 | 28R
JL919 | 28R
JL921 | 28R
JL923 | 28R
JL925 | 28R
b4 (FRER) F|_JL900 | 28H
JL902 | 28R
JL994 | 28R
JL904 | 28R
JL906 | 28H
JL908 | 28R
JL910 | 28R
JL912 | 28R
JL914 | 28R
JL916 | 28H
JL918 | 28H
JL920 | 28R
JL922 | 28H
KBR (FH) =4LIR (3 F )| KPR (57} | _JL2001 | 288
JL2005 | 28H
JL2009 | 28H
JL2019 | 28H
FLIR (37 F#%) A_JL2000 | 28H
JL2006 | 28H
JL2010 | 28H
JL2016 | 28H
KB (BA7E) =#L4R (3 F k)| KPR (BSdG) 5| JL2501 | 28R
JL2503 | 28H
JL2505 | 28H
FLOR (37 F %) H{_JL2502 | 28
28
28
BRCRE)=k&5] RERCRE) % 28
28
28
iR R 28
28
28
RRCRE) =R RERCRE) % 28
28
28
28
RENES 28
28
28
28
RRCRE) =8I RERCRE) % 28
28
28
ElEES 28
28
28
RR(CRB)=Hk RERCRE) % 28
28
28
28
HILR 28
28
28
28
R CRIE) =EE ERCRE) [ J 28
28
28
R 28
28
28

rEBEI5 EER(GAS~6HEBED)

JAL



SEEEA R 2019/04/03 ~
Py 5/5 5/6
R s i::: A EBTA| ZBITA
mAgam | B | ERE
R CRE) =& HR(PE)F|_JL14l 288 6.100
JL143 | 28 7.100
L145 | 28 00
JL147 | 28 00
L 28 00
JL 28 100
EHR L 28 .400
JL 28 .000
L 28 23,500
JL 28 25,500
L 28 25,500
L150 | 28 500
FRCRE) =M HR(PE)F|_JLI61 28 .600
JL163 | 28 .400
| JLi65 | 28 600
JL167 | 28 100
EE JL162 | 28 .600
JLi64 | 28 .100
| JLi66 | 28 .100
JL168 | 28 .000
FRCRE) =/ HR(PE)F| JLis3 | 28 0.600
| JLis5 | 28 700
J 28 000 | 1
[ J 28 500
J 28 500
J 28 500
Mg | 28 9.500
J 28 9.500
[ J 28 600
[ J 28 600
[ J 28 600
28 .200
FRCRE) =R RRPR)F| J 28 .000
28 500
28 .000
28 7.000
28 8.100
28 8.100
R 28 20,000
28 19.000
28 22,000
28 20,000
28 23,000
28 .000
KR (FFH=L& KR (75 % 28H .600
28H .800
28H 800
28H 8.700
28H 8.700
28H 8.700
28H 20,800
28H 18.700
as 28H 9.900
28H 3.800
28H 7.800
28H 7.800
28H .800
28H 700
28H .700
28H 700
KR (FFH) =818 KB (751 % 28H 9.900
28H 6.000
28H 6.000
28H 7.800
iR% 28H 0,600
28H 5100
28H 5,800
28H 6.800
KR (£751) % 28H 9.700
28H 4,000
28H 6.000
28H 7.800
AR 28H 4,000
28H 4,800
28H 7.800
28H 9,800
KR (FFH =55 KB (75 % 28H 3.100
28H 4,000
28H 4,000
28H 9,800
28H 9.300
B3 28H 1,300
28H 4,000
28H 7,800
28H 2.800
28H 2,800
IR EFFR)=LE (¢ 3 28H 5,000
28H 6,600
28H 8.800
28H 20,700
28H 20.900
28H 14,600
FLOR (37 F#%) §_JL2000 | 288 16.600
JL2002 | 28H 20,700
JL3980 | 28H 23.100
JL2004 | 28H 24,700
JL2906 | 28H 28.200
JL2910 | 28H 24,200 | 24200

rEBEI5 EER(GAS~6HEBED)

JAL
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15| 1 BEER(6A1~14B1EED)

EFEAE . 2019/04/03 ~
6/1-14
- s ERITA EZLEZer)
%
R () =R F &) RR(RE) [ _J 500, 1:13,600, H:9,300
[J 500, F:13,600, H:10,200
[J 400, %:13,500, +:13.600, B:11,200
[J 800, 1:19,100, B:12,600
[J 219,200, 1:20,400, H:12,600 |
[J 000, 7:17,300, £:19.200, +:20,400, H:13,200 |
JL 000, 7:17,300, £:19.200, F:20,400, H:13,200 |
JL 300, %:18,500, +:18,300, H:13,600
JL 400, %:14,900, +:14,700, B:14,200
JL 900, %:14.400, £:14,100, H:14,600
JL 900, %:14.400, £:14,100, H:14,600
[J 400, %:14,900, +:13.500, B:14,600
[J 900, 13,500, H:14,600
[J 900, F:13,200, H:14,600
[J 14,500, %:17,500, +:12,.800, H:15,400
[J 14,500, %:17,500, +:12.800, H:15,400
[J 515,500, 11,600, B:14,300
3:13.70
AETET I | 3700, 14,200, B:12,000
458 200
458 200
458 100
458 000
[ J 458 500
458 500
458 500 00, B:17.400
458 300 00
458 300 100, B:20,700
[ J 458 600 100
[ JL520 458 500 100, B:21,100
[ JL522 458 500 00, H:21,100
[ JL524 458 500 315,000, %:17.400
[ JL526 458 000 400, +:11,800, A1
[ JL528 458 500 300, £:10.700, B
[ JL530 458 500 5:13,100, £:9,700. B:15000 |
[ JL598 458 600 000
HFE(FE)= BR(FE) R [_JL565 458 100 500, %:16.000, £:17,000, H:15.600
X 8500 458 000 15500, £:17.000
116,500, %:17.500, B:20,000 458 600 500, F:15.400, H:18,200
EXEE] 458 000 14,500, B:16,500
458 000 4,500, F:13,700, H:16,500
| J 458 300 512,900, +:11,000, B:16,500
HRCHE) =)l R (AE) F[_J 458 500 15,000 +:17.000
458 000
458 000
458 000
JEIIES 458 500
458 200
458 700
| J 458 200
FR (FE) =9I HECRE) | _JL 458 ,300
L 458 400
L 458 900
I3 L 458 800
L 458 100
L 458 ,100
R (HE) =%k HECRE) $|_JL 458 ,900
458 500
458 500 00
458 000 15,500, H:18,000
ETR 3 458 000
458 000
458 000
| J 458 900
R (FH) = EACET:ES I 458 200
458 000
458 200
EER 458 400
458 500
| J 458 100
FR (GFIE)=fE W RERCABE) | _J 458 .500
458 500
458 500
458 700
458 300
[T 458 500
2,700, H:12.600 458 200
2,500 458 500
:12,600 458 300
458 900
R (FHE)=LES EREBE | J 458 300
458 600
458 600
458 000
458 300
458 900
458 800 100, + H:11.800
458 300 ,800, + H:11,100
%3 458 200 11,100
458 800
458 300
458 300
458 400
458 400
458 900
[ J ¥ 458 100
R (AH)= H GRE) 5 |_JLa9i 000, :11,800 458 200
493 000. F:12,800 458 200
458 500
458 000
458 900
B3 458 700
458 200
458 500
. H:15,400 458 400
[ J . H:16,900 458 900
HR(HE)=K5 RER(PE) R 458 ,000
458 600
458 900
458 100
458 500
458 100
EAX3 458 100
458 200
458 200
458 600
17,900, £:16.000 458 700
| J 7.300 458 000
HR(HA) =R ER(PE)E[ J 6,300, H:14.800 458 600
8500, 18,200, A:15.300 458 400 116,100, H:13500
& +:16,000, H:16,500 458 700 4,400
00, 000. B:16.500 458 700
17,000, £:14,800, H:16,800 458 500
17,000, £:14,800, H:16,800 458 300
RIgRE 300, +:16,800 458 300
6,800, H:15.300 458 500
800, £:15,900. H:16,800 458 100
600, £:16.300, H:17.800 458 100
18,600, £:16,300, H:17.800 458 000
00, H:17.500 458 600
R (HE)=] RRERCRE)F| J 6.100 458 600
7,300, H:14.800 458 500
900 458 200
800, H:16,500 458 100
458 200
458 200
458 700
$H:17,300, £:15800 458 100
233 17300 458 800
000, :18,000, +:17.200, H:16.500 458 ,000
15,500, % +:16.800 458 000
800, £:16.000, £:14.900, H:16.800 458 100
000, £:16.100. H:16.900 458 200
8.400 458 200
5,800, H:18.600 458 200
300, A#:17.300 458 700 100, 7K:




I EBE5 EERGAI~14BEES)

EEEAE . 2019/04/03 ~
6/1-14
- - FRITA - - EHTB
il g | TR | gz ] kil
RRCAB) =88 | RRCHE) | _J 4558 200 | 68% |2 :13,000. H:12.800
[y 458 200 | 68% |%:13,900, +:14400, H:12800
[y 458 700 | 67% | XsK:12,000 7:13,300. & +:13,500
[y 458 100 | 68% | F:14,400, £:14,200, +:13,500, B:14900
J 300, 16,500, 14,800, H:16,800 458 300 | 68% | F:13,500, JKE:13,200, £:14,800, H:14900
6,500, £:14,800, H:17.300 458 300 | 68% | X£:13,200, %:15000, H:15,400
EEE N 7,300, B:14,800 458 700 | 67% 3,500, £:13900, +:15,400, H:12900
[y 458 200 | _66% | £+:13,000, H:12.800
[y 458 200 | _68% |+ H:13,300
[y 458 200 | _68% | F9:13,300, %:13,500. H:14,400
[y 458 200 | 68% |%:13,700, £:12.800, H:14,900
[y 458 500 | 70% 12,700
RRCAE)-BR RRCAB) & 456 100 | 77% [£:13.100, £:14,900
0, £:17.500 458 600 | 73% |A:12,600, %:13,500, £:15900
3 300, A2:16,500, £:16,000 458 900 | 73% |A%:12,000, £:16500
288 000 | 70% 458 600 | 73% |A%E:12500
288 000 | 70% 458 600 | 76% |
288 000 | 70% 458 900 | 75% 7900
288 000 | 70% 458 600 | 76% 1,400, H:12.400
288 000 | 70% 458 600 | 76% 1,400, H:12.400
BRER 288 100 | 72% 458 700 | _78% [£:10600
288 000 | _68% 458 600 | 73% 3,200
288 000 | 70% 458 600 | 76% 25500
288 000 | 70% 458 900 | 75% |H:11.900
288 000 | _68% 458 600 | 73% |H:15.200
288 000 | _68% 45 600 | 73% |H:15400
288 000 | 70% 458 900 | 73% 4,900
288 000 | 70% 45E 5] 10900 | 75% 3,000
KRG FB | AR (P 288 200 |_69% 45EA] | 0,000 | 70% |EH:11,000
69% 45EA] | 0,000 | 70% |EH:11,000
58% 45E A | 12900 | 60% | 7:13400, £:14,700, £13.700. H:12.700
75% 45E 5] | 7,000 | 764 |F.9,000, £:0,000
EEE3 2% 45H 5] | 8000 | 70% |H:10000. +:10,000
59% 458 600 | 61% 000
62 3 458 600 | _64% 000
288 300 | _59% 700 458 600 | 61% 000
TR F-ERE | KR (FH | J 288 000 | 57% 200 H:12500 458 300 | 50% | £:12.700. H11900
288 500 | 55% | /KA2:13.700, £:15000 458 200 | 56% | /1 X:13,000, £:14,500. H:12,300
288 500 | 55% | /KA2:13.700, £:14.700 458 200 | 56% | A X:13,000, £:13.700, H:12,300
288 500 | 58% 458 400 | 50%
288 500 | 58% 458 400 | 50%
288 400 | 55% 458 700 | 58% -
288 700 | _54% 458 900 | 57% | £ H:13.200. £:12500
BRER 288 400 | 59% 458 000 | _60% 800, +:12,300, 11,900
288 400 | 59% 458 200 | _50% 800, £:12.300, H:12,100
288 400 | 59% 458 200 | _50% 1,800, £ H:12.300
288 400 | 59% 458 200 | 50% 1,800, T H:12:300
288 700 |_58% 14, 458 300 | 50% 200, 11,800, H13.700
288 200 | 534 700, +:13,700, H:15,600 458 400 | 55% 700, £:12.900
288 200 | _53% 14,400, £:13,700 458 400 | 55% 500, £:12.900
(B & 2 (PN =FLIR (3 T By & 2 (P D) 3_JL 286 100 | 50% 25,300, H:19,800 456 700
K 288 400 |_63% 458 000
K 288 600 | _65% 458 900
K 288 300 |_68% 458 000
K 288 300 | _68% 458 000 :
LR (B 7 ) A PE] 300 | _68% 3 458 000 | 71% 12900
K 288 400 458 900 | _69% 13.800
K 288 20,200, 218,800, £:17,600 458 19,000, &:17.700,
K 288 22,200, £:20,800, £:19,600 458
K 288 15,500, £:14,000, £:15500 458




MEs3l5 158

EER(6H15~21BERS

EFEAE . 2019/04/03 ~
6/15-21
= % FEITA %85178
FH EE T s
| BAMR | T AR
HFE(FE)=4LIR (3T Fm)| "R R\ F[_J 28 H A 700 45871 | 500, £:13,600. H:9.300
[J 288 600 458 500, F:13,600, H:10,200
[J 288 600 458 R:13.400, £:13,500, +:13,600, H:11,200
[J 288 400 458 7:18,800, +:19.100, B:12,600
[J 288 800 458 219,200, 1:20,400, H:12,600 |
[J 288 000 458 3:16,000, :17,300, %:19.200. 20400, B:13,200 |
JL 288 500 458 3:16,000, 7:17,300, %:19.200, +:20.400, H:13,200 |
JL 288 100 458 514,300, %:18,500, +:18,300, B:13,600
JL 288 500 458 513,400, %:14,900, +:14,700, B:14,200
JL 288 000 458 112,900, %:14.400, +:14,100, H:14,600
JL 288 000 458 R:12,900, %:14.400, +:14,100, H:14,600
[J 288 100 458 K:13,400, £:14,900, +:13,500, H:14,600
[J 288 100 458 514,900, +:13.500, B:14,600
[J 288 400 458 [£:15.900, £:13,200, H:14,600
[J 288 300 458 7K:14,500, %:17,500, F:12,800. H:15,400
[J 288 300 458 (K:14,500, £:17,500, +:12,800. B:15.400
[J 288 600 458 515,500, 11,600, B:14,300
288 000 458 1
AETET I | 288 100 458 5:13,700, 14,200, B:12,000
288 300 458 F 114,800, B:12.600
288 300 458 14,800, B:12,600
288 100 458 & 113,700, H:12,600
288 ,000 458 2,600, H:14,100
[J 288 400 458 5:12,000, B:14,800
L 288 000 458 4,500, H:15.900
L 288 900 458 4,800, £:15,000, F:14.100, H:17,400
L 288 400 458 6,800, +:14,100. 500
L 288 400 458 100, B:20,700
[ L 288 700 458 100
[ JL520 | 288 700 458 100, B:21,100
[ JL522 | 288 700 458 00, B:21,100
[ JL524 | 288 400 458 15,000, %:17,
[ JL526 | 288 000 458 517,400, 11,800, 500 |
[ JL528 | 288 400 458 515,300, +:10,700. 300 |
[ JL530 | 288 400 458 513,100, £:9.700, H:15,000 |
| JL508 | 288 100 458 000
BR(F@E)=k®A | mmCAE) %[ _JLse5 | 288 500 458 50 16,000, +:17,000
288 7,500 458 K A15.500, £:17.000
288 7,000 458 515,000, +:14,900, B:17.500
EXEE] 288 000 458 514,500, +:13,700, B:15,600
288 000 458 5:13,800, +:12,700, B:15,600
[J 288 500 458 511,400, £:10,000, B:16,200
R (FE) =R BEREE R[] J 288 000 458 15,000, £:16,000, £:17.000
288 000 458
288 500 458
288 000 458 1514900, A+ 15000, % 15500, H16.500
FEIES 288 500 458 7K:13,000, %:13.900, F:14,500
288 000 458
288 000 458
[ J 288 000 458
ERAHAE [ RREDR 288 500 w58
288 500 458
288 900 458 N=H]
FIFEE3 288 800 458 800, 14500 514,200
288 900 458 6,100, B:15,300
[ J 288 000 458
HRCHE)-EE | "mRGEE % 288 500 w58
288 700 458 K.13.600, 14200, & 14700, H13.100
288 100 458 800, +:13.700, B:16.600
RS 288 500 458
288 500 458 2,100, H:16,500
[ J 288 200 3700, H:19.800 458
RR (AE) =ML R CAE) R J 288 000 | 64% 11,100 458
288 000 | 64% :12,700 458
288 000 | 64% 458
288 300 | 58% 458
288 800 | 53% 458
[ 288 000 | 64% 458 _
288 000 | 55% 2,700, B:12.600 458 2700, TH
288 000 | 64% 12,500 458 111,800, T 6
288 800 | 56% :12,600 458 4600, TH
[ J 288 800 | 53% 458
RR(AH):-EE |RRGADHE[J 288 800 | 63% 458
288 600 | 49% 458
288 7,600 | 49% 458
288 7000 | 51% 458
288 900 | 63% 458 it
288 300 | 59% X 458 12,900
265 | 288 300 | 56% 5800, £ H:12.800 458 100, £ H:11,800
L267 | 288 800 | 54% 6,300, £ H:11,400 458 800, £ H:11,100
(53 L252 | 288 700 | 60% 458
[ Ji2sa | 288 300 | 56% 458
[ JL2s56 | 288 800 | 63% 458
[ JL2s8 | 28E 800 | 63% 458
[JL260 | 288 200 | 56% 458
[ Ji262 | 288 200 | 56% 458
[ Ji26a | 288 400 | 53% 458
[ JL266 | 288 900 | 51% 458
EEE R R M) 5| _JLa91 | 288 200 | 63% N 00, H:11,800 458
L493 | 288 200 60% +14,500, +:15,000, B:12.800 458 ,300, +:13,800, H:11,600
288 500 | 64% 3,700, B:13,200 458 600, T H
288 000 57% 458 200, £:1
288 100 | 51% 458
S 288 000 | 55% 458
288 200 | 60% 458
288 500 | 64% 458
288 500 | 56% N 200, H:15,400 458
[ J 288 100 | 51% [%:17,600, £:13,100, H:16,900 458
BRCHA)=X5 HRE(RE) 288 ,500 59% 800 458
288 500 | 59% 458
288 500 | 61% 458
288 500 | 61% 458
288 500 | 61% 458
288 000 | 60% 458
E 3 288 300 | 62% 0, 458
288 500 | 61% [ A:15,700, ﬁwsoo 17,000, B16.100 458
288 500 | 61% 458
288 500 | 61% 00 458
288 500 | 59% 458
[ J 288 800 | 63% 458
HR(HE)=R& RRERCRE)F| J 288 .000 66% 458
288 500 | 62% 458 00, H:13500
288 400 | 65% K:15,500, & +:16.000, B:16500 458
288 400 65% K:15.500, £ +:16,000, H:16.500 458 3400 * 13500, -
288 500 | 64% 6,300, :15.700, %:17.000, +:14,800. H:16.800 458 0. %:14,400.
288 600 | 64% 17,000, %:14,800, B:16.800 458 no ﬁw 00,
RI&5E 288 300 | 65% 0. 16,800 458 00, B:13,700
288 500 | 64% 6,300, +:16.800, H:15.300 458 4,900
L 288 000 | 63% 0. 7KK:14.800, %:15.900. B:16,800 458 00 j—_weno
L 288 000 1 0. B:17.800 458
L 288 7,000 1 0. H:17.800 458
L 288 500 4 8000, £:14,800, B:17.500 458
R CAE) e RRCAE)F | J 288 600 4 115,100, £:16.100 458
288 500 | 60% 458
288 500 | 60% 458
288 000 | 61% 16,300, +:16,800. H:16,500 458
288 500 | 62% 300, £:16.800. H:16.500 458
288 500 | 62% 458
288 800 | 62% 458
639 | 288 000 | 61% 458
33 L622 | 288 500 | 62% 458
288 300 | 60% 458
288 800 | 62% 458
288 300 | 63% [ A 458
288 000 | 61% [A 458
288 500 | 62% [ ®:1 458
288 500 | 60% |%:18,100, £:15,800, H:18,600 458
28H 800 59% | X:15,300, 7K:16.300, A #:17.300 458 100, 7K:14.200, A 15,200




I%/BE5 BERB6A15~21AEED)

EEEAE . 2019/04/03 ~
6/15-21
- - FRITA - - EHTB
il g | TR | gz ] kil
RRCAB) =88 | RRCHE) | _J 4558 200 | 68% |2 :13,000. H:12.800
[y 458 200 | 68% |%:13,900, +:14400, H:12800
[y 458 700 | 67% | XsK:12,000 7:13,300. & +:13,500
[y 458 100 | _68% | F:14,400, £:14,200, +:13,500, H:14900
[y 300, 16,500, 14,800, H:16,800 458 200 | _68% | F:13,500, :13,300, £:14,800, H:14900
6,500, £:14,800, H:17.300 458 300 | 68% E:13,200, %:15,000, H:15,400
EEE N 7,300, B:14,800 458 700 | 67% 3,500, £:13900, +:15,400, H:12900
[y 458 200 | _66% | £+:13,000, H:12.800
[y 458 200 | _68% |+ H:13,300
[y 458 200 | _68% 300, 213,500, H:14,400
[y 458 200 | _68% 500, +:12,800, H:14900
[y 458 300 | 70% 12500
R (HE)-BR RRCAB) & 456 100 | 77% 900
0, £:17.500 458 600 | 73% 12,600, £:13,400
3 300, A2:16,500, £:16,000 458 900 | 73% 12,900, £:13,900
288 000 | 70% 458 600 | 73% |A%E:12500
288 000 | 70% 458 600 | 76% |
288 000 | 70% 458 900 | 75% |H:A1.900
288 000 | 70% 458 600 | 76% |%:11.400. H:12.400
288 000 | 70% 458 600 | 76% |£:11.400, H:12400
BRER 288 100 | 72% 458 700 | _78% [£:10600
288 000 | _68% 458 600 | 73%
288 000 | 70% 458 600 | 76% |
288 000 | 70% 458 900 | 75% |H:11.900
288 000 | _68% 458 600 | 73% |H:12.400
288 000 | _68% 45 600 | 73% |H:15400
288 000 | 70% 458 900 | 73% 4,900
288 000 | 70% 45E 5] 10900 | 75% 3,000
KRG FB | AR (P 288 200 |_69% 45EA] | 0,000 | 70% |EH:11,000
288 200 |_69% 45EA] | 0,000 | 70% |EH:11,000
288 600 | _58% 45E A | 12900 | 60% | 7:13400, £:14,700, £13.700. H:12.700
75% 45E 5] | 7,000 | 764 |F.9,000, £:0,000
EEE3 2% 45H 5] | 8000 | 70% |H:10000. +:10,000
59% 458 600 | 61% 000
62 3 458 600 | _64% 000
288 300 | _59% 700 458 600 | 61% 000
TR F-ERE | KR (FH | J 288 000 | 57% 200 H:12500 458 300 | 50% | £:12.700. H11900
288 500 | 55% | /KA2:13.700, £:15000 458 200 | 56% | /1 X:13,000, £:14,500. H:12,300
288 500 | 55% | /KA2:13.700, £:14.700 458 200 | 56% | A X:13,000, £:13.700, H:12,300
288 500 | 58% 458 400 | 50%
288 500 | 58% 458 400 | 50%
288 400 | 55% 458 700 | 58% -
288 700 | _54% 458 900 | 57% | £ H:13.200. £:12500
BRER 288 400 | 59% 458 000 | _60% 800, +:12,300, 11,900
288 400 | 59% 458 200 | _50% 800, £:12.300, H:12,100
288 400 | 59% 458 200 | _50% 1,800, £ H:12.300
288 400 | 59% 458 200 | 50% 1,800, T H:12:300
288 700 |_58% 14, 458 300 200, 11,800, H13.700
288 200 | 534 700, +:13,700, H:15,600 458 400 700, £:12.900
288 200 | _53% 14,400, £:13,700 458 400 500, £:12.900
B B2 (D) =AU (91 T oy i 2 () L 28H 100 | 50% 25300, H:19.800 455 700 E 300, H:18,600
K 288 800 | _62% 000, £:20400. H:20500 458 400 [A:15.500. :15,600, 19,500, H:19,600
K 288 600 | _65% 458 900 00, +:13.900. H:13.800
K 288 300 |_68% 458 000 TH12
K 288 300 | _68% 458 000 900
FLIR 37T 8) /_JL: PE] 300 | _68% 458 000 900
K 288 600 . 458 900 % £ H:13.800
K 288 200 22,500, 20400, 18,800 F:17.600 458 700 |_58% 100, F:16,000
K 288 1,100 25,100, £:20,800, £:19,600 458 700 | _53% | H:22.100, £:18,000
K 288 4,900 15500, H:25,700 458 900 | 67% | :14,500, B:24,700




[%/BEI5 BER(6H22~30AEEND

EEHEAR 2019/04/03 ~

6/22-30
= % FEITA %85178
B 1 g 0 e
| BAMR | T AR "
HFE(FE)=4LIR (3T Fm)| "R R\ F[_J 28 H A 700 45871 | 500, £:15.200, H:9.300
[J 288 600 458 500, F:15,200, H:10,200
[J 288 600 458 [:13.400, %:13,500, £:15.400, H:11,200
[J 288 400 458 [£:18.800, +:20,700, H:12,600
[J 288 800 20 X 458 [£:19.200, +:24,300, H:12,600
[J 288 000 7,800, %:22,700, T:25.200, H:14,600 458 [ B:16.000, 7:17,300, %:19,200, £:24,300. H:13,200
JL 288 500 | 53% 2,700, +:25.200, B:14,600 458 [ B:16.000, 7:17,300, %:19,200, +:24.300. H:13,200
JL 288 100 | 62% 458 [ 14,300, %:18,500, +:18,300, H:13,600
JL 288 500 | 64% 458 [ :13.400, %:14,900, F:15,.800, H:14,200
JL 288 000 | 65% 6300, 17,400 458 [ :12.900, %:14,400, £:15.200, H:16,300
JL 288 000 | 65% 6,100, B:16,700 458 [:12.900, %:14,400, F:14,700, H:15,300
[J 288 100 | 62% 458 [:13.400, %:14,900, F:13,500, H:15,300
[J 288 100 | 62% 458 [£:14.900, £:13,500, H:15,300
[J 288 400 | 62% 4500 517800 458 [£:15.900, £:13,200, H:16,300
[J 288 300 | 59% 458 J7K:14,500, %:17,500, £:12,800. H:16,800
[J 288 300 | 59% 458 [ & K:14,500, %:17,500, 12,800, B:16,800
[J 288 600 | 64% 458 [£:15.500, +:11,600, H:14,300
288 000 | 55% 458 [B:13.700
FLIR (B F a0 H_J 288 100 | 60% 458 [£:13.700, £:14,200, H:12,000
288 300 | 57% 458 14,800, B:12,600
288 300 | 57% 458 14,800, B:12,600
288 100 | 60% 458 t 113,700, B:12.600
288 000 | 63% 458 600, H:14,100
[J 288 400 | 64% 458 000, B:15.200
L 288 000 | 65% 458 B:17, _
L 288 900 | 60% 458 X 5200, B:19.100
L 288 400 | 59% 458 200, H:21,200
L 288 400 | 59% 458
[ L 288 700 | 58% 458
[ JL520 | 288 700 | 58% 458 17.400, +:15.200. B:21,700
[ JL522 | 288 700 | 58% 458 17.400, £:15.200, B:21.700
[ JL524 | 288 400 | 59% 458 4,800, H:21,700
[ JL526 | 288 000 | 63% 458 21,700
[ JL528 | 288 400 | 64% 458
[ JL530 | 288 400 | 67% 458
| JL508 | 288 100 | 62% 458
R (PE)=%@5 | BmCHE) 5[ _JLs65 | 288 000 | 63% 458
288 7,000 | 63% 458 16,100
288 7.000 | 63% 458 4,900, H:17,500
EXEE] 288 500 | 66% 458 8,600
288 500 | 66% 458 8,600
[J 288 000 | 67% 458 6,200
RR CAE) ) R CAE) R J 288 000 | 64% 458 . £:22.600, H:20,800
288 500 | 58% 458
288 500 | 63% 458
288 500 | 63% 458
FENES 288 500 | 63% 0000, B 458
288 500 | 65% 8,500, 120, mo 458
288 500 | 67% 9,100 458
| J 288 400 | 67% 7,300, H:19.100 458
R (HE) =8l R (P& 288 000 | 66% :16,300 458
288 500 | 55% 22,700 458
288 900 | 64% 458 5:18,800
FIFEE3 288 800 | 64% 16,200 458 E . £:14500, H:14,200
288 900 | 59% 458 6
[ J 288 500 | 67% 119,000 458
RRCAH)-WE | RRCAH) % 288 500 | 56% 9,000, £:22.500, B:17.400 458
288 700 | 61% 458 4200, £:15,700, B13.100
288 100 | 54% 458 200 6,800, £:17.100, B:19,600
RS 288 500 | 56% 458 400
288 500 | 56% 5100, H21,100 458 500 113,500, F:12,100. B:18,400
[ J 288 200 | 48% 2,900 458 100 5,800, F:22.800
B R CAE) 5| J 288 000 | 64% 112,700 458 500 1,800, +:10,800, B:12,300
288 000 | 64% 458 500 £ H:12,300
288 000 | 64% 458 500 1,800, T H:12,300
288 300 | 58% 458 700 3,800, £:11.700, B:12.500
288 800 | 53% 458 300 1,500, H:12,300
[T 288 000 | 64% 458 500
288 000 | 55% . H:12,600 458 200 2700, 100
288 000 | 64% 2,700 458 500 11,800,
288 800 | 56% 2,700 458 300 >:14,600,
[ J 288 800 | 53% 2 600, H:12,700 458 900 100, £
B (HE)=LES RERCAE) | _J 288 800 63% 458 ,300
288 600 | 49% 1,400, B:13.000 458 600
288 7,600 | 49% 458 600
288 7000 | 51% 458 000
288 900 | 63% 458 300
288 300 | 59% 458 900
265 | 288 300 | 56% 458 800
L267 | 288 800 | 54% 458 300
(53 L252 | 288 700 | 60% 458 200
[ Ji2sa | 288 300 | 56% 458 800 12,600
[ JL2s56 | 288 800 | 63% 458 300
[ JL2s8 | 28E 800 | 63% 458 300
[JL260 | 288 200 | 56% 458 400 1,800, H:12,600
[ Ji262 | 288 200 | 56% 458 400 £ 11,800, H:12,600
[ Ji26a | 288 400 | 53% 458 900 X 16, 11,100
[ JL266 | 288 900 | 51% 458 100 00, H:12,600
EEE R R M) 5| _JLa91 | 288 200 | 63% 458 200 00, H:11,900
1493 | 288 200 | 60% 458 200 5 X 3,800, B:12.900
288 500 | 64% 458 500 N 00, H:12,200
288 000 | 57% 458 000 00, H:1
288 100 | 51% N 458 900 00, H:17,300
S 288 000 | 55% | F:16,500, H:15,200 458 700 0
288 200 | 60% zoo 5,200, £:16,300 458 200 300
288 500 | 64% 3,800, £ H: 458 500 0, H:12.900
288 500 | 56% 16,000, 15,200 458 400
[ J 288 100 | 51% 600, £:14.200 458 900 3,100, B:17.100
RRAH)=XH | RRCAE) % 288 500 | 59% 100 458 000 5,500, 6:13,000
288 500 | 59% 1000, B:16.400 458 600 5,900, B:14500
288 500 | 61% 458 900 5,000
288 500 | 61% 458 100 3500 14,400
288 500 | 61% 458 500
288 000 | 60% 458 100
E 3 288 300 | 62% 0, 458 100
288 500 | 61% [ A:15,700, ﬁwsoo 17,000 458 200
288 500 | 61% 458 200
288 500 | 61% | H:17.500 458 600
288 500 | 59% 458 700
[ J 288 800 | 63% 458 000
HR(HE)=R& RRERCRE)F| J 288 .000 66% 458 600
288 500 | 62% 458 700
288 400 | 65% | KA15.500, & +:16,000, H:16.500 458 400
288 400 | 65% | JKA:15500, & +:16,000, H:16,500 458 400
288 500 | 64% | :16.300, A:15.700, %:17.000, 15,300, H:18.600 458 500
288 600 | 64% 00, :15.700, %:17,200, %:15.300. B:18,600 458 300
RI&5E 288 300 | 65% 458 300
288 500 | 64% 458 500
L 288 000 | 63% 458 100
L 288 000 1 458 100
L 288 7,000 1 458 000
L 288 500 4 000, 15300, B:17.500 458 600
HR (AH)= RRCAE)F | J 288 600 4 100, £:16.100 458 600
288 500 | 60% 458 500
288 500 | 60% 458 200
288 000 | 61% 16,300, +:17.400, B:17.300 458 100
288 500 | 62% 300, F:17.000, H:16,500 458 200
288 500 | 62% 458 500
288 800 | 62% 458 700
288 000 | 61% 458 100
33 288 500 | 62% 458 800
288 300 | 60% 458 000
288 500 62% )\ 458 ,000
288 500 | 62% )o( 15,300, 7K:14,800, 16,000, B-16.800 458 100
288 000 | 61% £ 16,500, %:17.000, H:18,500 458 200
288 500 | 62% [®:1 458 200
288 500 | 60% |%:18,100, £:16,300, H:19.500 458 200 00
28H 800 59% | X:15.300, 7k:16.300, A £:17.300, B:17.700 458 700 64% 100, 7K:14.200, K : 15100 B:15,400
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©/22-30
- 5s ERITA - - ERITE
il g | TR | gz ] il
RRCAB) =88 | RRCHE) | _J 515,500 45H 5] 200 | 68% | 213,000, H:13,600
[y 458 200 | 68% |£:13,900, 14400, H:13,600
[y - 458 900 | 69% | F9:13.700, A:13,300, %:13,500, £:13900. H:14,200
[y 16,000, £:15,500__H:17,000 458 100 | 68% | F9:14,400, £:14,200, :13,900, H:14900
[y 300, 217,300, 15500, H:17.500 458 200 | _68% | F:13,500, 413,700, :13.300, % H:15,500
2:16,500, £:15000, H:17.500 458 300 | 68% | X£:13,200, %:15,000, H:16,000
EEE N 458 700 | 67% 5200, £:13,900, £-:15.400, H:13,600
[y 458 200 | _68% H:13,900
[y 458 200 | _68% 700, H:14,400
[y 458 200 | _68% 300, %:13,500, 13,700, H:14,400
[y 458 200 | _68% 500, +:13,700, H:15,000
[y 458 300 | 70% 12,500
RRCAE)-BR RRCAB) & 458 100 | 77% 900
3 0, £:17.500 458 600 | 73% 12,600, £:13,400
000 | _68% 300, A2:16,500, £:16,000 458 900 | 73% 12,900, £:13,900
000 | 70% 000 458 600 | 73% +£:12500
000 | 70% 0 458 600 | 76% |
[y 000 | 70% 15300, H:17.000 458 900 | 75% |H:A1.900
[y 000 | 70% 216 76% | %:11.400, H:12.400
000 | 70% 76% | £:11.400, H:12.400
BRER 100 | 72% 78% | £:10,600
000 | _68% 73%
000 | 70% 768 |
000 | 70% 75% [ H:11.900
[y 000 | _68% 73% | H:12.400
[y 000 | _68% 73% | H:15400
000 | 70% 73% | %:14,900_ H:16.700
000 | 70% 75% 13900
KB (=38 KR (77 8 .200 69% 70% [+ 8:11,000
200 |_69% 70% | £ H:11,000
[ 600 | _58% 60% | 79:13.400, 14,700, £:14,000. H:12.700
200 | 754 76% | 9,000, £:9,000
EEE3 [ 9200 | 72 73% | H:10,000, £:10,000
300 | 59% | & H:13,700 458 600 | 61% |2 H:13,000
[ 700 | 61% 458 000 | 63%
300 | _59% |ZH:13.700 458 600 | 61% 000
KR FM-BRE | KRG E| 000 | _57% |£+:13.200_ 13,100 458 300 | 50% | £:12.700. H:12400
[ 500 | 65% | KA &:13.700, £:15,000 458 200 | 56% | /1 X:13,000, £:14,500. H:12,600
[ 500 | 65% | KA%:13.700. £:14,700 458 200 000, £:13,700, H:12,600
[ 500 | 58% 458 400
500 | 58% 458 400
400 | 55% | ST H:13,500 458 700 -
700 | _54% 458 900 13,200, £:13,000
BRB 400 | 59% | £:12.700, H:12500 458 000 800, +:12.300
400 | 59% | £ H:12.700 458 200 800, £:12.300, H:12,100
400 | 59% | £ H:12.700 458 200 1,800, £ H:12.300
400 458 200 1,800, £ H:12.300
700 (KA:12.400. H:14.200 458 300 12.200_K:11,800, H13.700
200 5700, F:12,300, B:16,800 458 400 ; 4700, 13500, H.15,800
200 14,300 458 400 | 55% |2 H:13500
B & R (PN =FLIR (3 T Bye & 2 (P D) 100 8,800, F:25000 458 700 [£:24.300, £:27.700. H:22.600
800 000 20,400, H:21.800 458 400 [A:15.500, :15.600, F:19,500. H:20,000
600 458 900 00, :13.900. B1:18,600
300 458 000 B2
300 458 000 900
HLOR (37 F %) ,300 X 458 ,000 900
600 400 458 900 % £ H:13.800
20200 23,700, 20400, 18,800 F:19.600 458 700 |_58% 100, £:16000
21,100 25,100, %:20,800, 20,600 458 700 | _53% | H:22.100, £:18,000
14,900 15500, H:31,200 458 900 | 67% |:14,500, :30.100
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15| EER(TA1~11BEED)
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7/1-11
=) —n FRITA - . FWHTB
—7. FH —7.
I il mAmE | TR | s il
KB (FRFHE | AREFDHR 45EET | 9900 72% 11,000
11,300 458A1 | 9900 72% |4 H:11,000
[ J :14,600, £:15,100, H:13,300 458 R | 12,800 63% [ 3#:13,700, 1:14.300, H:12,500
! 45871 | 7.900 77% | H:9,000. 1:9.000
FRR 45ERT | 8900 75% | 8:10,000, £:10,000
458 500 64% 200, H:13,300
[ J 458 .500 67% 200, H:12,300
458 500 64% 14,200, H:13,300
AR(FH-ERE | AR(FHTE|J 458 400 | 62% |%:13.000. £:13,900
[ J 458 900 57% | 7K:13,000, F:14.900, H:12,600
[ J 458 ,000 60% £:13.900, 1:14,900, H:12,600
[ 458 400 62%
458 400 | 62% |
458 200 62% | %:13,000, H:14,800

288 ,300, H:16,800 £:15,300, H:15.800
288 6,300, H:16,800 £:15,300, H:15.800
g-ﬁg(q:grg)q[,m(g;:piﬁﬁg(q:gﬁ)a 288 28,800, H:25,000 £ +:27.700, H:22,600
288 00, X:17,000, F:20,900, H:21,000 16,600, :16,500, £:20,000, H:19,200
288 14,900 £:12,400, + H:13,000
288 14,000 £:11,500, + H:12,100
LS 288 2,000, H:14,000 £:9,500, £:10,100, H:12,100
VLI (37 F28) H_J 288 :12,800 £:11,500, + B:12,100
288 13,700 . % [£:12,400, F H:13.000
288 £:23,500, £:22,200 458 900 51% | H:23200, F:22,400, X:22,200, £:20,100, +:21,100
L3114 | 28H :24,500, £:25,900, H:30,000 458 ,900 48% | A:23,400, X:23,200, £:23,900, 1:22,400, H:29,000
L3118 | 28H 17,900, H:31,200 458 .900 64% | :16.500, H:30.100

£:13,500, H:13.900

£:12.900

£:13,200, +:12.400, H:12,000
£:13,200, +:13,300, H:12.400
£+ H:12,400

k:12,300, 1 H:14,800
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771624
= . FAEITA FATE
FH F8 =
BAKR AR | " ]
o5 R (e D) = AL (37 T A/ & I (71 85) 3_JL3103 | 28HIAI 45881 £.28.800. ©:24000
[CuLs105 | 285 4568 £:21,100, H:19.400
| JL3107 | 28HAT 45E Al
L3115 | 28E18) 45H 5] |
L3117 | 28E08) 45H 5] | 800, £ B:11,500
LR (37 F 8 H_JL3100 | 28 VAT 4568 1,800, £ H:13,100
[CuL3i06 | 28057 45681
L3110 | 28E08) 45671
L3114 | 28087 45681 322,700, +:20,400, H:29,000
L3118 | 28E08) 45881 [:18.900, H:28.400
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XA &4 K/ITA %®3{7B

EZ3] @r@ M

SAMR | T FiEES
[t 75 B2 (e D) =AL R (B F e o B (FPER) H_JL3100 | 28I AT 800 | 40%
| JL3105 | 28EAT 200 59%
| JL3107 | 28HAT 700 62%
L3115 | 28E Al 000 1%
L3117 | 28HAl 000 75%
WLI% (37 F#) H{_JL3100 | 28E 800 71%
| JL3106 | 28HAT 700 62%
L3110 | 28H Al 900 51%

114 | 28H80 900 46% -
L3118 | 28H 81 700 62% JK:15.500, £:18,900, H:28.400
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K/UMTA| £18517B A TA KB
FH | 0 | mes | me
AR | mAame | ERE | EAE
288 a 43.600 43,500
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28 23.300
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28 23.200
28 24,300
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PR DA 871
K/UMTA| £18517B FE A BT
XA L =%
AR | mAame | ERE | EAE
BE R (P E) =ALIE (B T e B 2 (P ED) 3 288 ] 7,400
28 .200
28 ,900
28 .000
L. 28 ,000
ACESE I 28 800
28 ,900
L 28 .700
L. 28 700
L 28 .400
L. 28 600
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5/18-31
=40} T A—N—%HF
EEE B51% %5
BERCAE) =R G Fm)| RERCEE) R |_J 6.900 82%
9100 76%
100 | 73%
800 | 63% |4
000 | 63% |A:
500 | 64% |A:
500 | 64% |A:
700 | 69% &
900 | 71% |A:
400 | 70% &
400 | 70% |A:
700 | 69% [&
700 | 69% |&
500 | 67% |&
500 | 64% |A:
500 | 64% |&
500 | 69% |&:
600 | 50%
AR T %) 3_J 200 | 65% |A :14.800, H:12.100
200 | 62% |& :15.700, H:12.700
200 | 62% | A5 :15.700, B:12.700
200 | 65% |A:14. :12.700
100 | 68% |Ad :13.800
600 | 72% |Ad :14.000
600 | 72% |A:d2 600, B:15.400
100 | 68% |4 00, H:16.900
700 | 66%
000 | 65% |&
200 | 65% |A
200 | 67%
200 | 67%
200 | 67%
100 | 70%
600 | 72%
9.600 74
700 | 7%
R (FIH) =EtE HERCPAEHE [ J .500 7 :14.500. H:11.000
500 7% :13.200, H:12,800
700 |61 :13.200, B:15.100
BHER 9,600 3% .000
11500 | 67% 1,400, H:15.500
15600 | 56% |A: 4,600, £:12,000. H:17.000
KR () =318 KR (£751) % 9.500 71
9,500 1% H:10.600
11.600 4 :12.100, A:11.900. %:13.700. £:12.400. B:11.400
7.500 7% | H:8.600. £:8600
FRE 8.500 600, £:9.600
11,300 .600. % H:11.700
10.300 .600. % B:10.700
JL2250 11,300 .600. % B:11.700

JAL
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6/1-14
=40} T A—N—%HF
ERE | gz sl
HRCHE) =R FHFR)| RR@E %[ _J 8.300 78% :12.900, B:8.500
9200 75%
0200 | 73%
4100 | 62%
600 | 56% |4
000 | 60%
.000 | 60%
900 | 68%
200 | 70%
700 | 69% [A
700 | 69% |k
900 | 68%
900 | 68%
700 | 66%
800 | 63%
.800 | 63%
700 | 69%
000 | 63%
AR T %) 3_J 400 7 :13.400. B:11.600
400 4 3:11.400
400 4 3:11.400
400 7
300 |70
.800 1%
800 | 69%
000 | 63%
100 | 60%
100 | 60%
300 | 59%
000 | 63%
000 | 63%
000 | 63%
1.300 | 70%
0800 [ 71%
9.800 74%
700 | 69% .
R (FE) =Rl HERCAE) [ J 800 | 71% 300, /K:13.800. #:14.200. £:16.000. H:13.200
,300 63% | A:16.500, A:16.400, % H:17.000, +:18,000
200 | 72% | &oK:11.700. %:13.500, H:15.800
.200 75% |J #:12,500, H:15.800
FEIIES 700 | 76% |4 100
9,600 78% |4 500, H:13,000
10400 | 77% +13.000. £:10.900. H:14.000
8.900 80% 000, +:9.400, H:12.400
R CRE) =8I RERPE) % 11.700 73% 400
15700 | 64% :17.700, H:14.600
13.300 | 69% :15.600
FEES 13200 | 70% £:14.400. H:13.600
400 | 67% . H:14.600
500 | 76% :12.400
ERCAR) =%k HERCRE) % 0.800 75% 3:11.100
4000 | 68% £:15.000
700 | 71% +13.800. +£:14.300. H:14.000
400 | 69% . #:14.800, £:14.200. H:17.500
WILFE .200 69% 00
900 | 72%
900 | 72%
500 | 73%
R CRE) =BE RERPE) % .500 67%
L300 | 68%
4000 | 60%
E S 600 | 70%
700 | 67% |%:13.600. £:12.800. H:16.000
900 | 55% . £:12.300, H:17.300
R CRE)=FEW RER(PE) R 10.400 69% .700
10400 | 69% .700
10400 | 69% :10.700
12100 | 64% 11,300
14400 | 57% |+:11.000. H:11.400
[EIES 10400 | 69% 1,400
13100 | 61% |%:11.500. £:11.400. H:11.000
10400 | 69% |&+H:10.700
13300 | 61% 13,500, £ B:11,200
13800 | 59% |£:14.000. £ H:11.200
RRCAB)=ES HRCAE) % 11,100 68%
15400 | 55% H:10.400
15400 | 55% H:11,400
14800 | 57% .900. £ B:11.400
11,100 | 68% 11,300, £ H:11,400
12.900 | 63% B:12.800
13,900 | 60% 11,400
14200 | 59% 1400, %:14.900, T H:10.400
%S 12,400 64%
13.900 | 60%
11,100 | 68%
11100 | 68%
13200 | 62%
13200 | 62%
14900 | 57%
14900 | 57% 1400
RRCAB) =Rk HRCAE) % 12,500 1% 14,100
14100 | 68% |X:13.800. 7K:13.900. A:14.600, £:15000. F:14.700, H:13.000
13,900 | 68% 3,200, :12,700, 7K:12,900, :13,000, H:13,600
13.900 | 68% 112700, 7K:12.900. :13.000, H:13.600
13,000 | 70% :12.600, £:13,900, H:14,800
12700 | 71% 000, %:14.200. H:14.800
RIGH 13,000 70%
13000 | 70% 14,80
12,600 | 71% 113,600, £:13,100. H:14.800
14200 | 67% :13.600, A:13.800. %:15.400, £:14.100. H:15.300
14,900 :15.400, 1:14.100. B:15,300
12.300 :14.100
RECRE)=ER B CRE) % 9,600
11.100 11,300, £:12.100. £:13.100
11300 | 74% 11,600, A%:12,600. £:13.600
11100 | 75% |A%+:11.300
10100 | 77%
10600 | 76% |H:11.600
10100 | 77% |%:11,100. H:12.100
10100 | 77% |£:11.100. H:12.100
ERBR 9.300 79% 0,300
11100 | 75%
10100 | 77%
10600 | 76% |H:11.600
11100 | 75% 2,100
11100 | 75% |H:14.800
11300 | 74% % H:14,600
10600 | 76% |% H:.13.600
K (D =38 KB (5 % 9.500 71% |+ H:10,600
9.500 71% |+ H:10.600
11900 | 63% 2,400, £:13.700, £:12,700, B:11.700
7.500 77% | B:8.600, +:8.600
HBR 8,500 74% :9.600, £:9.600
11.600 | 64% 11.700
10600 | 67% [#H:10.700
11600 | 64% |£H:11.700
B E (PED) =HLIE (T R[BEE (PED) 18,100 57% [£:21.700, £:20,700, B:17.100
8.900 79% | %:14.600, £:10.300. H:10.600
7,700 82%
.900 84%
.900 86%
4L (F T %) 3 .700 84%
800 81%
12.400 | 70%
13400 | 68%
10000 | 76%

JAL



TR—N—%FGIHEEROGAI1S~21BEED)

EREEAA : 2019/04/03 ~
6/15-21
=40} T A—N—%F
ERE | gz okl
HRCHE) =R FHFR)| RR@E %[ _J 8.300 78% :12.900, B:8.500
9200 75%
0200 | 73%
4.100 62%
600 | 56% |4
.000 60%
.000 | 60%
900 | 68%
200 | 70%
700 | 69% [A
700 | 69% |k
900 | 68%
900 | 68%
700 | 66%
800 | 63%
.800 | 63%
700 | 69%
000 | 63%
AR T %) 3_J 400 7 +13.400. B:11.300
400 4 3:11.900
400 4 3:11.900
400 7
300 |70
.800 1%
800 | 69%
000 | 63%
100 | 60%
100 60%
300 | 59%
000 | 63%
000 | 63%
000 | 63%
1.300 | 70%
0800 | 71%
9.800 74%
700 | 69%
B (CRE) =8I RRCAEH [ J .900 73% 300, £:16.400. H:12.700
300 | 63% ,400. %:15.900, F:18.000. H:17.000
200 | 75%
200 | 77%
FEIIES 700 | 76%
9,500 79%
10500 | 76%
9,000 80%
R CRE) =8I RERPE) % 11.700 73%
15700 | 64%
13.300 | 69%
EEES 13200 | 70%
400 | 67%
500 | 76%
HECRB)=HIE RERPE) % 1.300 74%
4000 | 68% 5,000
.200 | 69% :14.000, £:14.300
900 | 70% 14
WILFE 200 72%
900 | 70%
.900 | 70%
1800 | 75% 000, +:10,900. F:13.200
R CRE) =BE RERPE) % .500 67% 00, +:16.500, H:10.600
L300 | 68% 00. £:13.500, H:12.300
4000 | 60% 500, H:15.400
E S 600 | 70%
700 | 67% |%:12.700. £:11.900. H:16.000
900 | 55% |&: . £:12.300, H:17.300
R CRE)=FEW RER(PE) R 10.400 69% |21 .700
10400 | 69% | .700
10400 | 69% :10.700
12100 | 64% 11,300
14400 | 57% |+:11.000. H:11.400
[EIES 10400 | 69% 1,400
13100 | 61% |%:11.500. £:11.400. H:11.000
10400 | 69% |&+H:10.700
13,300 61% 13,500, £+ H:11,200
13800 | 59% |%:14.000, T H:11.200
HECAB)=LES HRCAE) % 11,100 68%
15400 | 55% H:10.400
15,400 55% H:11,400
14800 | 57% .900. £ B:11.400
11,100 68% 11,300, £ H:11,400
12.900 | 63% B:12.800
13,900 60% 11,400
14200 | 59% 1400, %:14.900, T H:10.400
%S 12,400 64%
13.900 | 60%
11,100 68%
11100 | 68%
13,200 62%
13200 | 62%
14,900 57%
14900 | 57% 1400
RRCAB) =Rk HRCAE) % 12,500 1% 14,100
14100 | 68% |X:13.800. 7K:13.900. A:14.600, £:15000. F:14.700, H:13.000
13,900 68% 3,200, $k:12,700, 7K:12,900, A:13,000, H:13,600
13900 | 68% |A: 112700, 7K:12.900. :13.000, H:13.600
13,000 70% 212,600 :13,900, H:14,800
12700 | 71% 000, %:14.200. H:14.800
L] 13,000 | 70%
13000 | 70% 14,80
12,600 1% 213,600, :13,100, H:14,800
13.800 | 68% 113.600, £:14.900. £:14.100, H:15.300
14,900 66% . £:14,100. A:15.300
12.300 | 72% 114,100
RECRR)=E& HR(PE)F [ JL687 | 12,700 69%
12700 | 69% 113.900
13,000 68% :12,600, H:13,600
13.000 | 68% 3:14.800
12,700 69% :12,800. 7%:13,000, #:14,300, H:14.800
13200 | 68% £:12.700. %:14.500, H:15.300
EEES 13,600 67% H:13.200, 7k:13,000, £::13,800, +:15.300, H:12,700
12700 | 69% |&+:13.400
12,700 69% |+:13.000, H:13.200
12700 | 69% | A %:13.200. H:13.900
12,700 69% |£:13.200. H:14,500
12.000 | 71% |&H:12.200
K (FFD =318 KB (5 % 9.500 71% |+ H:10,600
9.500 71% |+ H:10.600
11,900 63% 2,400, £:13,700, £:12,700, H:11,700
7.500 77% | B:8.600, +:8.600
HBR 8,500 74% :9.600, £:9.600
11.600 | 64% 11.700
10,600 67% |4 10,700
11600 | 64% |£H:11.700
B 2 (P E5) =#LIR (BT F | &2 5 B (P EB) 18,100 57% |#:21,700, £:20,700, B:17,100
14600 | 65% |A:14.700. /:14.800. £:18.900, H:17.900
9,800 7% 10,300
9.000 79% 9.500
8,000 81% ,500, H:9.100
4LI% (37 F8%) _JL3100 | 8.800 79% 9.300
,000 76% 10,500
100 | 62% |B:18.600. £:14.500
100 | 57% |H:20600. +:16.500
.000 | 76% |+:10.600. H:14.600
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TR—N\—%FGIEEXR(6A22~308EFEN)

EREEAA : 2019/04/03 ~
6/22-30
=40 T A—N—%HF
ERE | gz sl
HRCHE) =R FHFR)| RR@E %[ _J 8.300 78% :14.500, H:8.500
9200 75%
0200 | 73%
4100 | 62%
600 | 56% |4
000 | 60%
.000 | 60%
900 | 68%
200 | 70%
700 | 69% [A
700 | 69% |k
900 | 68%
900 | 68%
700 | 66%
800 | 63%
.800 | 63%
700 | 69%
000 | 63% ]
AR T %) 3_J 400 7 ,900. £:13.400, H:11.300
400 4 3:11.900
400 4
400 7
300 |70
.800 1%
800 | 69%
500 | 61%
100 | 60% 500, H:20.500
100 | 60% 600, F:14,500, H:20.500
300 | 59% :21.000
000 | 63% :21,000
000 | 63% :21.000
000 | 63% 114,100, H:21,000
1.300 | 70% :21.000
0800 [ 71% 7.300
9.800 74% 300
700 | 69%
R CRE) =)l ERCRE)FE| J .900 3% | A: 600, £:20.400. H:16.500
.900 % (& 500, H:19.600
300 | 72% 00, #:14.100, £:15.700. H:18.500
.300 % 1400, 00, £:13.100, F:14.700. H:18.500
FEIIES 200 | 75% 110.200, £:13.400. £:15.900. H:15.200
9,000 80% | :9.700. X:9.200. %:11,500, £:12.900. H:16.600
10400 | 77%
8.900 80%
R CRE) =8I RERPE) % 11.700 73%
15700 | 64%
13.300 | 69%
EEES 13200 | 70%
400 | 67%
500 | 76% :12.400
R (FE)=HE R CRE) % 300 | 74% [A: 400 £:15.800. H:15.200
500 | 69% |B 00. H:17.000
500 | 69% |HZ% :17.500, H:17.000
400 | 67% 6
WILFE 700 68%
400
400
.300
R CRE) =BE RERPE) % .500
L300 | 68
4000 | 60%
E S 600 | 70%
700 | 67% |%:12.700. £:11.900. H:16.900
900 | 55% |%:14.600. F:15.700, H:21.900
R CRE)=FEW RER(PE) R 10.400 69% |&t:
10400 | 69% &
10400 | 69%
12100 | 64%
14400 | 57%
[EIES 10400 | 69% 1,400
13100 | 61% |%:11.500. £:11.400. H:11.000
10400 | 69% |&+H:10.700
13300 | 61% 13,500, 11,200, H:12,000
13.800 | 59% 000, £:11.200. H:12.000
RRCAB)=ES HRCAE) % 11,100 68% 11,200
15400 | 55% 400, H:12.20
15400 | 55% 11,400, B:12.20(
14800 | 57% 900, £:11.400. H:12.200
11,100 | 68% 11,300, +£:11.400, H:12,200
12.900 | 63% 12.800
13,900 | 60% 1,400, H:11,800
14200 | 59% 400, %:14.900. £:10.400, H:11.400
LE% 12,400 64% :11,800
13.900 | 60% 1.400. B:12.200
11,100 | 68% 12,100, £:11,400
11100 | 68%
13200 | 62%
13200 | 62%
14900 | 57%
14900 | 57%
RRCAB) =Rk HRCAE) % 12,500 71%
14600 | 67% |A:14.100. X:13.800. 7K:13.900, £:15000. F:15.800
13,900 | 68% |A:13.200. :12,700, 7K:12,900, A:13,000, H:14,500
13.900 | 68% |A:13.200. k:12.700, 7K:12.900. A:13.000. H:14.500
13,000 | 70% |Y 113,900, +:13.200, H:15,700
14000 | 68% |9 K:13.000. %:14.200, +:13.200. H:15.700
L] 13,000 | _70% :14,900, H:14.400
13000 | 70% :14.800, H:13.400
12,600 | 71% . £:13,800, H:15.200
14500 | 67% K:13.600. %:14.900, H:17.100
14900 | 66% , 114,500, B:17.100
12.300 | 72% :15.300
RRCAB) =25 RRCAB) % 12,700 69% 3:13,100
12700 | 69% 113,900, H:13.100
13400 | 67% X +13,000, B:13,900
13.000 | 68% 13,900, +:13.400, H:14.800
12,700 69% 13,200, ::13,400, 7:13,000, £:15.100, H:15,200
13200 | 68% |XE:12.700. %:14500. H:15.500
S 13200 | 68% 13,600, 7K:13.000, A:15,100, %:13,800. £:15,300, H:13.100
12700 | 69% |& 1 H:13.400
12700 | 69% |+:13.200. H:13.900
13200 | 68% |KJKA:12.700, H:13.900
12700 | 69% 13,200, H:14.500
12.000 | 71% |&H:12.200
K (FFD =318 KB (5 % 9.500 71% |+ H:10,600
9.500 71% |+ H:10.600
11900 | 63% 2,400, %:13.700. £:13,000, B:11.700
7.500 77% | B:8.600, +:8.600
HBR 8,500 74% :9.600, £:9.600
11.600 | 64% 11.700
10600 | 67% [#H:10.700
11600 | 64% |£H:11.700
B H B (P &) =ALIR (T T | B 5 = (P 2) 18100 | 57% |%:21,700, :25100. H:20,800
14600 | 65% |A:14.700. /:14.800. £:18.900, H:17.900
9,800 77% 10,300
9.000 79% 9.500
8,000 81% 500, B:9.500
4LI% (37 F8%) _JL3100 | 8.800 79% 9.300
000 | 76% 10,500
100 | 62% |B:18.600. £:14.500
100 | 57% |H:20600. +:16.500
000 | 76% |+:10.600. H:15.900
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ER#EMAE : 2019/04/03 ~

[R—N—%FIEEXRTAI~11BERESD)

7/1-11
=40} A—N—%F
g |78 i
RRCHE) =R RRCAE) % |_J 600 3.600. 7K:13.300. :13.500, % H:14.100
600 115,200, 7K: :14,800, £:15,900, 1:16.300
600
600
600
400
RS .100
.100
100
100
500 900, H:17.100
000 | 72% [ 117,000, £:13.500. B:15.300
HE (FE) -2 HERCAEFE [ J 100 70% | &:
,600 69% |JK: :14,600, H:13.100
100 | 68% [k
.900 68% B £:14.100
100 | 68% | k4 :15.200
100 68% [ :15.500
ECES 600 | 69% [A: :13.100
,100 70% A: :13.600
100 | 70% |&4
.100 70% F:14,600. £:14.500, £:13,600. H:14.700
100_| _70% | H:13.600. %:14.500. F:13.400, H:14.700
200 | 72% |F:13.200. AF:12.400, £:13.500. H:13.700
KR () =318 KR (£751) % 9.500 73% 10.600
9.500 73% 10.600
11700 | 67% |%:12.600. E:13.200. H:11.400
7.500 79%
FRE 8.500 76%
.400 67%
400 | _70%
.400 67%
AR(PFH-ERE | KRB R .200 66%
300 | 50% £
400 | 62% +£:13.800. H:11.400
900 | 66%
900 | 66%
900 | 66% 13.600
800 | 64% 700
ERBR ,900 66% 10,800
900 | 66% 0.800
.200 66% 2,700, H:11,800
200 | 66% 3:11.800
100 | 63% +11.900. £ H:13.600
300 | 62% 4.50
300 | 62% +14.50
B 2 (R ED) =ALIR (3 T | & & 2 (D) 200 | 50% 5.900. H:20.80
400 | 65% | H:15.600, X:15.500. £:19.400, H:16.700
10900 | 75% |4
9.900 78% |+ H:10.400
8.200 81% |£:8.900. +:9.400. H:10.400
+LIR (37 F %) 3 _JL3100 | 9.100 79% 9,900, H:10.400
JL3106 | 10000 | 77% |B%:10.900. H:11.400
JL3110 19700 | 56% | H:21.200, 7K:19.400. A:19.400, %:18.200. :18.900
JL3114 20.700 | 53% | H:22.400. 7KA:20.400. £:21.900. F:19.900
JL3118 14900 | 66% [+ H:15.900

JAL



[R—/—%BIEBER(TA16~24BERS) AL

ER#EMAE : 2019/04/03 ~

7/16-24
=40} = A—N—%HF
EEE B51% %5
RR(AB)=E8 ERCRE)FE| J .200 70% X
.400
400
.200
600 %
,600
.000 .800, H:14.800
500 100
RB% .200 :
,000 500
200 [ 70% :12.200, B:11.400
200 | 70% 12,900, +:13,000, H:13.800
600 | 63% 100
600 | 63% 4100
000 [ 59% [k .200. £:13.600, H:14.500
300 | 59% |%:16. 1,100, H:14.200
R CRE)=2h EEICEES N 400 | 67% :14.600. 900, £:15.100
600 | 67% |/KH:14.400. AK:15.100, £:15.600
100 | 65% :14.900, 7K:14.000
900 66% |A:15.500, # H:16,000, £:15.100
600 | 67% [H:15500, 7k:14.400. £:15.600, +:15.100. H:16.500
.100 65% | 4:16.600, X:14.900, 7k:14.400. %:16.000, H:16.500
EE] 500 4% | /KA:14.900. £:16.500. H:14.400
400 7% 5.100. +:16,000. H:14.600
400 7% [ J&+:14.900. B:15.100
,400 7% :15,600. $:16.000., #:15.500, +:14.900. H:16.100
1400 7 4.900, £:15.500, H:16.100
500 | 69% K+:12,400. 7K:13,000
B () =ALWR B T | o 2 (P ) 3e]_L 800 7.400. H:22.300
800 8,600, H:16.900
.900 11.400
9,900 78% 10400
8.400 81% 900, +:9.400, H:9.700
ALIR (BT %) 3 9,400 79% E 9,100, £:9.300, H:10.400
10400 | 77% £:10.100. £:10.300, B:11.400
18400 | 58%
20400 | 54%
15300 | 65% |+:15.100. H:17.600




ER#EMAE : 2019/04/03 ~

TR—N\—%FGIHEER(TA2~31BEEN)

7/25-31
FH# A5
= B8 | mAmR [ TEW
T8 | mziE %
RRCHE) =B85 RRCAE) % |_J 55 400 | 67% | H:14.600. JK:16.600, £:14.900. £:15.100
55 600 | 67% |k +15.100, +:15.600. H:14.400
55 100 | 65% | X:14.600. 7K:16.600, A:14.900
55 900 | 66% | :15.500. k:17.000, % H:16.000. £:15.100
55 900 | 66% | H:15.500. A:14.600, £:15.600. +:15.100, H:16.500
55 900 :
S 55 500
55 400
55 400
55 900 | 66% 1 4 :15,500, H:16.100
55 400 | 67% :14.900, £:15.500. H:16.100
55 500 | 69% | A E:12.400. 7K:13.000
B 2 (P ED) =ALIR (37 T | & i 2 (P ) 34 55 800 | 46% | X:24.600. JK:17.700, +:27.400. H:22.300
55 800 | 62% |7K:16.000. £:18,600, H:16.900
55 900 | 75% |+ H:11.400
55 9.900 78% |+ H:10.400
55 8.400 81% .900. £ H:9.400
LR (B F %) $_JL3100 | 55 9.400 79% #:9,600, k:9,800, H:10.400
[ JL3106 | 55 10400 | 77% |H%:10600. 7K:10.800. H:11.400
L3110 | 55 18700 [ 58% [f7:18.400, X:18.400, 7:18.400, +:15.900
L3114 | 55 20400 | 54% |#H:20700, £:17.900
18] 55 15300 | 65% |/K:14.500. £:15.100. H:17.600
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[R——5%1G1IEER(BA2~8HEES)

EREEAA : 2019/04/03 ~
8/2-8
=40} = A—N—%HF
EEE B51% %5
R (REA) =R RRCHE) %[ J 24600 | 47% |7K:25.100, A:26.300. %:21.600
26,100 | 43% K:26.700, %:23.400
25200 | 45%
25200 | 45%
24300 | 47% . £:24,000, H:24.500
25600 | 44% 00. +:24,000
WS 7.600 | 62% 9.400. H:18,000
7600 | 62% 9,400, H:18,000
600 | 60% 9.400. H:18.900
400 | 58% 9,900
400 | 58% 9.900
000 | 59% ¥ B:19.400
ER(PAE)-ERSE RERCRE) % .300 52% :22.900
300 | 52% :22,900
300 [ 52% 121,500, :23.300, H:22.900
23300 | 49%
23100 | 50%
23100 | 50%
23100 | 50%
23100 | 50%
BERBR 500 | 73%
300 | 69%
300 | 69%
300 | 69%
300 | 69% 7.600. H:15.600
300 | 69% 0, +:17,300. H:15.700
300 | 67% [k 00, H:17.300
300 | 71% |%7Ki12.500,
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TR—N\—%FGIHEER(BA19~25BEFEN)

EREEAA : 2019/04/03 ~
8/19-25
B = A—R— 5
EEE B51% %5
ECAC:E ERCRE)FE| J .400 69%

.300 65%
400 | 67% |H:16.100 £+ H:15.100
.900 64% 5,600, 7K A:15.400
900 | 64% | HX:15.600. JKA:15.400
100 65%
100 | 65% |H%H:15600
100 65% H:15.400, £ H:16.400

RAR .300
.300
300
.300
300
.300
1300
.300

HERCAR)-ERE | ERCHE) R 500 3% _[7K:12.000. %:13.500. £:14.300

500 | 69% [7K:14.000, £:15.500. 15800
500 | 69% 500, K:13.000, £ £:15.300
300 | 73%
500 | 73%
500 | 75%
500 | 75%
500 | 75%

ERBR -300
.300
1300
.300
1300
.300
.100
.100

JAL
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EREEAA : 2019/04/03 ~
B = =5
EE | mmix kil
ECAC:E ERCRE)FE| J 600 71
400 7 +:14,500
400 7 2 £:14.700
400 7 :14,900, £:15.200
400 7 114.900, +:15.000
,600 69% 14,100
600 | 69% 14,600, £:14.100
600 7 £:15.400
RAR 600 £:15.800
,.600
600
600 H:15.600, 7K:14.000, £:15,100, £:13.600
600 15,800, 7K:15.000, +:14.600
,.600 A:15,900
600 A:15.900
.600 o
R (FE) == HERCAE) [ J 600 | 69% |2:14.500. £:14.100
.600 69% |+:13.900
400 | 69% | k7K:13.000
400 | 69%
900 | 68% |+:13.800
900 | 68% |+:13.800
ELES .900 66% |A+:15500. £:15.100
.600 7% [£:15.100, 1:14.700
600 7
600 4%
600
200
ER(PAE)-ERSB ERCRE) % .500
,000
000 | 7
300 5%
300 | 75%
000 | 76% |H:11,500, £:12.500
000 | 74% |AZ13.
000 | 74% |H%:13500
ERBR .100 74% 300
.400 69% 600
400 | 71% 600
.900 70% 114,100
300 | 73% | H:16.100. /K:14.600, £:15.600. £:13.600
.300 67% | :AK:13,600, 7k+:15.100
100 | 67% |%:15.300
900 | 70% |%:15300

JAL
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2019/04/03 ~

=40]

7/12

2= i—%48

ERE

RECRB) =B

RRPE)R | J

.500

.500

.000

.500

.500

.500

.000

.400

.300

000

.100

,000

RRPAE)=ERS

RRECRE)#

.800

.800

.300

.600

.300

.300

.300

.300

BERBR

.600

100

.100

100

.600

.800

.300

.700
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EREEAA : 2019/04/03 ~
8/1
FH 2—1 548
=40) L
AR EEE
RECRB) =B RRECRE)# 55 7.500
55 1.500
55 600
55 .500
55 500
55 .500
ELES 55 .900
55 400
55 400
55 400
55 900
55 400
RRCAB)-ERS | Rm(HE) % 55 600
55 .800
55 800
55 .600
55 6.800
55 6.000
55 7.100
55 7.100
ERBR 55 500
55 000
55 .000
55 .000
55 500
55 500
55 000
55 000
B (P =ALIR (BT T | 2 () 3L 55 500
55 .800
55 4.500
55 9.900
55 9.200
LR (37 F %) 5 55 9.800
55 14,500
55 22,000
55 21.700
55 20,700
55 10.300

TR—N—%FIHEEXRBATBERED)

JAL



[R—/—5%BEER(BAI~I5AEED) AL
SEFEAA - 2019/04/03 ~

8/9 8/10 8/11 8/12 8/13 8/14 8/15
[=4i5) B8 FH A5 | A | A% | A5 | A5 | 25 | 2%
AR " gmm | mmm | mmm | @Am | EnE | EmE | @R
ER(PAE) =B BERCAE)% [ J 55 7.700 31.700 700 21,900 | 19.500
55 7,700 35,700 .700 | 22600 .700
55 7.700 35.700 .700
55 7,700 35,700 700
55 700 .700 7.700
55 .700 .700 7,700
EBR 55 200
55 .500
55 .500
55 000
55 .300
55 ,600
RRAE-EE | AR R | 55 700
55 700
55 7.700
55 7,700
55 7.700
55 .700
BB 55 800
55 .700
55 .400
55 .000
55 .400
55 20.300
RE AR BRE | AR(FEE 55 26,500
55 26.500
55 26.900
55 27500
55 26.900
55 26.900
| J 55 26.900
JL655 55 .700
BERBR | _JL 55 1000
JL 55 ,000
JL 55 .000
JL 55 ,000
[JLeas | s5 000
| _JL650 55 ,000
| _JL652 55 .000
JL654 55 .100




EREAR

2019/04/03 ~

=40]

8/17

2= i—%48

R

RECRE)=RER

RRPE)R | J

5.300

7.200

.000

,000

.000

600

.600

.100

RAR

26.300

7.500

7.500

7.500

7.500

7.500

7.500

RERPE)-ERE

RRECRE)#

BERBR

26,300

26.700

26.900

26.900

.700

.700

.700

.700

[R—N\—%FGIHEEXRBA1T~18BEFEN)

JAL



TS5 BIEER(6A15~21BEES)

EREAE 2019/04/03 ~
6/15-21
T ISR E
P B2 | wamm o TEEE
ma | yny %
RAR CRE) =8Il RRCAE) % [_J 7 000 | 77% | A& X£:11.000
7 ,000 73%
7 100 | 75% |2k7K:10.600. %:13.900. £:11.500. H:15.300
7 100 | 77% | Jk:9.600, £:12.900. +:10,500. H:15.300
FETIES 7 9.800 78% | H H:10.300, %:12.300. £:11.200
7 8.500 81% H:9.000
7 10000 | 77% |%:12.000. H:13.000
7 8.500 81% |4 H:9.000
RAR CHE) =%k R (AE) 5 7 8.900 79%
7 10.400 76%
7 9.400 78% | H:11.400
7 10000 | 77% [F:11,000, £:10,900, £:10,800, H:15.400
HILFE 7 .400 78%
7 400 78% H:11.400
JL574 |7 400 78% |4 H:11.400
JL57 7 ,900 79%
EEREEE TR CFIE) 3 |_JL585 | 7 10000 | 72% |A:12.100. % £:14.000
| _JL587 7 10.000 72% | A:11.900. % +:12,000
JL589 | 7 13400 | 62% |%:15.000. T:12.900. H:14.800
B A 9500 73% £ H:9.900
[ Jisse | 7 000 | 72% [#H:11.000
JL588 7 .300 57% :14.000, £:11.700. H:16.700
ER(CRE)=51H HERCRE) | _JLes7 | 7 ,000 7
| JLese | 7 ,000 DES
[ Jteoi | 7 000 | 71% |
| _JL693 7 ,000 1% B 3:13.300
[ Jleos | 7 000 | 71% |H:12.200. X:12.600. %:12,800. H:13.800
JL697 7 ,000 1% :12,800, H:13.800
B | JLess | 7 600 | 69% |H:12.200. 7KH:12.000. %:12.800. F:13.800
| _JL690 7 ,000 1%
[ Jleo2 | 7 000 | 7 H:12.200
| JL694 7 ,000 T1% B 12,200
[ Jleos | 7 000 | 7 H:12.800
JL698 | 7 800 | 71% $12.100
KR () =318 RIR (5 % | JL2241 | 7 .500
| JL2243 7 ,900
L2247 7 700
JL2251 7 700
FR%E | JL2240 | 7 .900
| JL2244 7 ,000
[UL2246 | 7 000
JL2250 7 ,000

JAL



ER#EMAE : 2019/04/03 ~

TS5 RBEER(6H22~30BEES)

6/22-30
B T TSR
S Gl
ERE | sz okl
BRCRE)=k&5 ERCRE)FE| J .200 78% | AR£+:12.200
.200 76%
200 | 78% | B:12.200
EStRTE .200 76%
200 | 78% |B:11.200
8.700 81% H:10.200
RRCRE) =R ERCRE)FE| J ,000 77% | K& +:11.000
,000 73%
300 | 72% | H:11.800. %:11.300, £:13.900. £:15.600. H:17.500
.300 | 74% |H:10.800. %:10.300, %:12,900. +:14.600, H:17.500
JENIES 9.800 78% | H:10.500. £:10.000, £:12.400. £:15.400, H:13.800
8.500 81% :9.000
10000 | 77% |£:12.000. H:14.000
8.500 81% [£:9,000, H:10.400
EACE: R N ERCRE) % 8.900 79%
10.400 76%
9.400 78% | H:11.400
10000 | 77% [£:10.900. +:13.300, H:17.500
HILR .400 78%
400 78% | H:11.400
.400 78% |&H:11.400
,900 79%
RR(PH)-EE RRCHE) % |_J 10000 | 72% |A:12.100. % £:14.000
10.000 2% :11.900, £ +:12,000
13400 | 62% £:15.000. H:17.400
BHER 9.500 73% 900
10000 | 72% 11,000
15,300 57% :14,000, +:15,000, B:21,200
HR (@)= HRCRE) % 9.600 72% 800 £:10.600. H:11.300
9.600 2% 900
9.600 72%
11,000 67%
13300 | 61% |+:10.500. H:11.600
FELLSE 9.800 71% £ H:9.900, £:10.800
12000 |6 £:10900. £:10.800. H:10.500
9,600
300 700 £:10.900. H:11.700
,000 ,200, £:10.900, H:11,700
ER(ABR)=LE8 ERCRE)FE| J .500 .600
.300 ,800, £:10.100, H:11,800
300 800, £:11.100. H:11.800
,200 ,300, +:11.100. H:11,800
8.000
10,500
12.800 00. H:11.700
13,300
&% 11.300
12,800
10.500
8,000
12.600
12,600
13.800
14,300
HECRB)=EH HERCRE) % 12.000
12000 | 71% |+:12.200
12000 | 71% |2+ H:12.200
12000 | 71% |A%:12.200. H:13.300
12000 | 71% |A:12.200. K:12.600. £:14.100. H:13.800
12000 | 71% |£:12.800. H:13.800
BIAR 12000 | 71% |A:12.200. %:12.600. A:14.100. £:12.800. £:13.800
12000 | 71%
12000 | 71% |H:12.200
12000 | 71% |AH:12.200
12000 | 71% |H:12.800
11,800 | 71% B:12.100
KR (D =318 KR () % .500 74%
.900 73%
.700 70%
700 79%
HBRR .900 76%
.000 72%
8,000 75%
9.000 72%
BEE (PED) =HLIE (T R[BEE (PED) 17.400 58% 1,000, +:24,300, H:20,700
11.700 100, A H:13.700, %:11.900
7.000 7,100, H:9.800
6.100
5,100
+LI% (37 F %) _JL3100 6.100
JL3106 7,000
JL3110 10500 | 75% 11.800
JL3114 11,900 2% 13,400
JL3118 9.500 77% |£:10.100. H:14.200

JAL



ER#EMAE : 2019/04/03 ~

TN RFIEER(TAI~11BEESD)

7/1-11
T SAFSRE
B B8 | mAmR [ TEW
T8 | mziE %
B CAE) = BERCAE)% [ J 7 .400 48% | 7KAK:24.200. $’25,700\ 1:26.000, H:23.400
7 000 | 48% |7k H:24,800, %:26.700, £:27.700
7 000 | 66% | JK:15.500, % +:16.500. H:17.500
7 1,900 68% |k JK:14.400, £:16,500, £:15.400. H:17.500
B F 7 .500 69% :15.000, A:14.600, #:15.700, 1:16.500. H:15.500
7 ,000 | 68% [ J¢7K:14,900, %:15,500, +:15,600, H:17,000
7 .500 47% | B:25.500, £:26.400, H:28.100
7 200 74% |A%:12,700, £:13.100, B:16.000
KR (FFH) =378 KB (R % [ J 7 .500 76%
7 ,400 73% 1 H:9.700
7 .500 76%
7 700 81% H:8.500, £:7.400
FB% 7 200 77%
7 ,500 76% %:9,700
7 .500 79% 10.700
7 8.500 76% 11,700
FFHCTOE = P ACEE" 7 21.400 25200 H20.700
[ JL 7 11,000 :15,100, X H:12.900. %:11.200
Ji 7 10.200 0.500, H:10.700
Jl 7 ,200 79% . 9,700
Ji 7 .100 82% 200, 1:8.700, H:9.700
FLIR (I FR) 3 _JL3100 | 7 200 81% 9,000, H:9,500
| JL3106 7 .200 79% 10.000. H:10.500
JL3110 7 11.300 74% 2,900, H:14.800, X:12,900
JL3114 7 13.300 70% F:16.800. % H:14.900
JL3118 7 10,500 76% A X H:11.800

JAL



TS %BIEER(TA16~24BEES)

EREEAA : 2019/04/03 ~
7/16-24
FH ISR E
P B8 | mAmR [ TEW
T8 | wziE %
HR (@)=l ERCHE) % | _J 7 26400 | 43% |%1:28.700. H:25.600
7 27,000 t:29.700
7 20,800 20,200, % T:21.400, H:22.700
7 19,100 1,300, £:20.300. H:22.500
JEIES 7 19.700 | 58% |7K:19.200. & H:20.200
7 19.000 | 59% |7K:18.700. /K:19.200, £:19,100, +:19.700. H:22.100
7 25,300 25500, £:29.700, H:28.100
7 700 ,000. H:20,800
RR(AB)=E8 ERCRE)FE| J 7 .600
7 300 ,000. H:11,700
7 300 700
7 400 100
7 1400 900, B:11.000
7 1400 .900. H:11,000
7 .900 3:13.900. £:12.200
7 400 | 64% £ H:10.800
LE% 7 000 | 70%
7 900 | 65% 3:11.400
7 600 | 71% £:11.100. H:10.300
7 600 | 71% 700, £:11,800, F:11,900, H:12.700
7 900 | 65% 800 700
7 900 | 65% ,800. H:13.700
7 900 | 62% 000, £:12.900. H:13.700
7 200 | 62% 000, £:13.400. H:13,800
KR () =318 KR (£751) % 7 .400 73% 9.700
7 400 73% 9,700
7 500 76%
7 700 81%
(3 7 000 80%
7 .700 72%
7 700 75%
7 .700 72%
B 2 (D) =ALIR (37 7 | & 2 (P D) 34 7 22.900 48% 26.100. H:21.400
7 12000 | 73% |A:12,200. H:14.100
7 10200 | 77% 0,500, H:10.700
7 9.200 79% 9,700
7 7.400 83% 700, H:9.600
ALIR (BT %) 3 7 8.500 81% :8,700, A +:8.200, 8,400, H:9.500
7 9.500 79% 700, A £:9.200. £:9.400. H:10.200
7 11300 | 74% 900
7 13300 | 70% 4.900
7 10500 | 76% 1,800

JAL



TS %RBIEER(TA2~31BRES)

EREEAA : 2019/04/03 ~
7/25-31
=0 B |l — DI RE
ma | %
HR (@)=l ERCHE) % | _J 7 26400 | 43% | H:20.800, £ +:28.700. H:25.600
7 27000 | 42% [F:31.200, £+:29.700
7 20800 | 55% |:X:23.900, 7K:24.700. % +:21.400, H:22.700
7 18900 | 59% |A: (22,400, 7K:23.100, £:21.000. F:20,000, H:22.200
JENIES 7 19.700 | 58% [A: :23.900, £:20.200. £:21.700. H:20.100
7 19100 [ 59% :22.100
7 25300 | 46% :28.100
7 700 | 64% 7500, £:18.000. H:20.800
RR(CRE) =515 HRCAE)E [ J 7 ,000 72% : :13.100
7 600 | 71% |k :12.000
7 100 | 70% |k 3300, £:13.600. H:12.800
7 .200 72% [R:
7 600 | 71% |A:
7 600 | 69% :
S 7 800 | 71% |A: :13.800, B:12.200
7 000 | 72% |A: 3300, H:12.600
7 000 | 72% |A: 13.100
7 600 | 71% |A: 13,800
7 600 | 7 z
7 000 | 72% |A%:13.100, k:
KR () =318 KR (£751) % 7 .400 7 4 .700
7 400 .700
7 500 9.700
7 .700 :7.500. :5.700. %:6.200. 5500
e 7 .000
7 .700 72%
7 700 75% 600
7 .700 72% 600
B E (FER) =ALIR (BT T3 B B (P Em) 3 _JL 7 22.900 | 48% 400, 7K:17.100. £:26.100, H:21.400
7 12000 | 73% 200, H:14.100
7 10200 | 77% 500, B:10.700
7 9.200 79%
7 7.400 83% 700
ALIR (BT %) 3 7 8.500 81% ,900, H:9.500
7 9.500 79% .900. H:10.500
7 11300 | 74% .900
7 13300 | 70% .900
7 10500 | 76% |7K:14.000. H:11.800

JAL



IS %FIEER(BA2~8BEES)

EREEAA : 2019/04/03 ~
8/2-8
=R B4 Eﬁigﬂi TIVESRF
s
ER(PE)-ERE |®mmRE) %[ Jea | 7 K:24.300. £:19.500. + H:21.900
L643 | 7 4 t H:21,900
JL645 | 7 £:20,500. 1:22.300, B:21.900
L647 | 7 :20,800
9 [ 7 £:19.500, H:22.300
T 7 119.900. £:21.300. H:22.300
3 | 7 2.300
5 | 7 :21,000, H:22.300
ER&R JL 7 :
L 7 k:
JL 7 ok
L 7 X K
L 7 800 | 70% |k :16.600
[ JLes0 | 7 800 | 70% [k 6,600, £:16.300. H:15500
[ JLes2 | 7 800 | 68% |Jsk:13.800. £:16.100. H:16.600
JL654 | 7 800 | 72% |A7K:12,000, F:16.100, H:14.800
KR () =318 KB () e | JL2241 | 7 .400 73% 14 .700
[ J2243 | 7 .400 .700
[ JL2247 | 7 .700 6.300. 7:14.000
JL2251 | 7. .700 500, H:7.200. 7K:7.400, £:7.400
Fms% | JL2240 | 7 200 400, £:9.500
[JL2244 | 7 .700 72% :10.200. 7K:14.700. A:15.000
[ JL2246 | 7 700 75% | H:9.200. 7K:13.400. A:14.000. £ H:12.300
JL2250 [ 7! .700 72% 0.200, 7K:14.400, :15.000, % H:13.300

JAL



TS5 RBEER(BA19~25ABES) JAL

ER#EMAE : 2019/04/03 ~

8/19-25
FH ISR E
P B8 | mAmR [ TEW
T8 | mziE %
ECAC:E ERCRE)FE| J 7 .000 70%
7 ,600 69%
7 200 | 72% | kK:12.000. % £:13.300. H:13.100
7 ,600 69% | :X:13.900
7 600 | 69% [2:13.900
7 ,100 70%
7 100 | _70% |H#H:13.300
7 ,100 70% H£H:13.300
AR 7 20.300 | 53%
7 20.300 53%
7 20.300 | 53%
7 20.300 53%
7 20.300 | 53%
7 20,300 53%
JL634 | 7 20300 | 53%
JL638 7 20.300 53%
RRCAE)-ERS | RmHE) 3| _Jedl | 7 000 | 74% |JK:11.500. %:13.000. £:13.800
JL643 7 ,600 70% _|JK: 5 00
JL645 | 7 100 | 72% 500, %:13.300
JL647 7 ,.800 7%
JL649 | 7 000 | 74%
[ Jresi | 7 000 | _76%
[ Jless | 7 000 | 76%
JL655 |7 000 | _76%
BERBRE |_JL 7 20300 | 56%
JL 7 20.300 56%
JL 7 20300 | 56%
JL 7 20.300 56%
[ Jteas | 7 20300 | 56%
| _JL650 7 20.300 56%
[ Jles2 | 7 20.100 | 56%
JL654 7 20,100 56%
KR (FFH) =38 KB (R % [ JL2241 | 7 9.400 73% 0.500. H:9.700
| JL2243 7 9.400 73% 9.700
L2247 7 11.600 | 67% .9.700
JL2251 | 7 1400 79% 500. 7K:6.700. :6.700. +:8.500
FR%E | JL2240 | 7 200 7%
| JL2244 7 ,700 2%
L2246 | 7 700 75% K& H:12.300
JL2250 7 ,700 72% |7K# H:13.300




TS5 RBEER(8A26~31BEES)

EREEAA : 2019/04/03 ~
8/26-31
FH ISR E
= B2 | wAsg oo E=5H
EEE B51% %5
RR(CRE) =515 ERCRE)FE| J 7 .600 71% |#1:12.800
7 ,.600 1%
7 200 | 72% | :12,000
7 ,000 72%
7 100 | 70% |H£:13.200
7 ,200 7
ELES 7 800 i K:12.600
7 ,.600 7 £ +:12,800
7 600 | 71% [%:12.800
7 ,600 69%
7 600 | 69%
7 ,600 69%
ER(PAE)-ERSE RERCRE) % 7 .000 78% |A:
1643 | 7 500 | 73% [A:
JL645 | 7 500 | 75% [A:
JL647 7 ,800 7% A:
JL649 | 7 800 | 77%
[ JL651 7 500 77% [ A:11.000. £:12.000
[ Jless | 7 500 | 75% |H%:12.800
JL655 | 7 500 | 75% 800
BERBRE |_JL 7 000 | 74% |#+:12.200
JL 7 600 73% B .800
JL 7 600 | 73% 800
JL 7 ,100 2% :13.300
JL648 | 7 800 | 77% | H:14.100. /KE:12.600. %:13.600
| _JL650 7 ,100 2% ZE
[ Jies2 | 7 100 | 72%
JL654 7 ,100 2%
KR (D) =318 RIR (5 % | JL2241 | 7 9.400 73%
| JL2243 7 9.400 73% 8.900
L2247 7 13300 | 62% |7KA:9.700, %:12.200. £:12.000
JL2251 | 7 1400 79% [7K:6.700. A:6.700. +:6.900
FR%E | JL2240 | 7 .200 77% | %:7.400. £:7.900
| JL2244 7 ,700 72% 900
[UL2246 | 7 700 75% 2300 %:11.200
JL2250 7 ,700 72% |7K:13.300, £:12.200

JAL



EEMAE . 2019/04/03 ~
/12
TR (nrsxs
B B8 | asm
man
TR B T | RO GE % | st | 7 28700
| JL553 7 29.700
| _JL555 7 4,500
JL557 7 4,500
bENIE:3 | _JL552 7 1.000
| _JL554 7 1.600
| _JL556 7 7.600
JL558 7 3.000

YNNSERIEER(TANZBERD)

JAL



EREEAA : 2019/04/03 ~
7/14
T |nrsxs
= B2 | gamm
EEA
FRCRE) =R BR CRE) % |_JL551 7 26,500
[ JLs53 | 7 7.800
[ JLss5 | 7 7.500
JL557 | 7 400
JENIE:S | JL552 7 ,900
| JLs54 | 7 .900
[ JLs56 | 7 .700
JL558 | 7 .000

YLNSERIEER(TR4BERD)

JAL



ER#EMAE : 2019/04/03 ~

(=40}

E%

FH
AR

8/1

VIS KR

EEEH

R (PE) =R R CRE) %

.800

.800

.800

.600

.800

.200

.300

.300

ERER

.000

.500

.500

.500

.000

.800

.500

1.500

KR (D) =38 KR (£751) %

9.400

9.400

13.300

6.700

HRR

8.200

9.700

.300

.300

65 (R ED) =ALIR (B T | 2 () 34

.900

.800

.500

9.400

8.200

9.100

10.100

20.900

15.900

13.900

Py Y Sy ) Y ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ] ) Y B )

9.800

YLNSERIEER(BAIBERS)

JAL



TN RFIEER(BAI~14AEES) JAL

ER#EMAE : 2019/04/03 ~

8/9 8/10 8/11 8/12 8/13 8/14
X B4 E%?\gllﬁ R e R e e R T e
ERE ERE

R (PE) =R ECAETDE NN 25,500 25,900
25,500 30.700
25,900 30.700
26.700 30.700

25,900
25.900
25,900
.700
500
500
500
500
500
500
500
500

21,300

20.900

Py Y Sy ) Y ) ) ) ) ] ] B ) )




TS %B I EER(BAI6~1TARES) JAL

ER#EMAE : 2019/04/03 ~

8/16 8/17

FH IS EB| USRS
= B2 | gamm Z
EEH

R (PE) =R RRCRE) | JL .200
.200
.800
1100
.800
.800
.800
.800
25.300
25,700
25,900
25,900
26.600
25,900
25,500
25,500

Py Y Sy ) Y ) ) ) ) ] ] B ) )




TN RFIEER(OA2~12BEES)

EEEME : 2019/04/03 ~
9/2-12
FH YRS %R
=40 B4
BASE [ o) E3
s | B0 W=
KR (B B8 | AR (PR % | Jl2241 | 7 500
| JL224 7 ,900
| JL224° 7 .700
L225 7 700
R L224( 7 .900
| JL2244 7 ,000
| JL2246 7 .000
L2250 7 ,000

JAL



TS5 RBIEER(OA1T~30BEES)

EEEME : 2019/04/03 ~
9/17-19.9/24-30
FH YLRSER
=40 B4
BASE [ o) E3
s | B0 W=
KR (B B8 | AR (PR % | Jl2241 | 7 500
| JL224 7 ,900
| JL224° 7 .700
L225 7 700
R L224( 7 .900
| JL2244 7 ,000
| JL2246 7 .000
L2250 7 ,000

JAL



TS5 RBEER(I0A1~10BEES) JAL

ER#EMAE : 2019/04/03 ~

10/1-10
T4 SLISER
= ma -
BB | g | TR0 =
KR FA 8 | KR P & | 2zt | 7 500 | s
| JL224 7 ,900 73%
| JL224° 7 .700 70% H:10.000
L225 7 700 79% H:7.500
HiaR | JL224( 7 .200 900, #:7.900. 7k:7.900. £:7.900

[Jr22a4 | 7 000 %:9,100

L2246 7 .000 X:8.100

L2250 7 ,000 12% 7:9,100




IS5 RB I EER(10A15~26BEED)

EREEAA : 2019/04/03 ~
10/15-17.10/23-26
FH YIS EE
=40) L =
AR EnE %;g =
KR (7D =$18 KB (5 % |_JL224 7 .500
[UL2243 | 7 ,900
[ JL2247 | 7 .700
L2251 | 7 200 700
HBRR 12240 | 7 .900 200, +:8.200
[ L2244 | 7 900 500, £:9,000
L2246 | 7 500
L2250 | 7 8,500 74%

JAL



EEMAE . 2019/04/03 ~
9/1
TR (nrsxs
B B8 | asm

man

KRG8 | KRR % | J2zai | 7 5500
| JL2243 7 8.900

| JL2247 7 10.500

L2251 7 500

FRE | J2240| 7 200

| JL2244 7 .000

| JL2246 7 ,000

L2250 7 .000

YLNSERIEER(OAI1BERS)

JAL



